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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 
SESSION: 2024-2025 

Class : VII                                                                Maximum Marks: 80 

Subject: Hindi                                                                            Time: 3 Hours 

सामान्य निरे्दश : 
• इस प्रश्न-पत्र में दो खडं हैं -‘अ’ और ‘ब’। 
• खडं के सभी प्रश्न अननवार्य हैं। प्रश्नों के सभी उपभागों के उत्तर क्रमशः एक साथ लिखखए। 
• उत्तर पुस्तिका में उत्तर के साथ वही क्रम संख्र्ा लिखखए जो प्रश्नपत्र में दी गई है। 
• इस प्रश्न-पत्र में कुि 7 पषृ्ठ हैं, और प्रश्नों की कुि संख्र्ा 18 हैं।  

 खडं – ‘अ’     
1. (क) निम्िलिखित गदयाांश को ध्यािपूर्वक पढ़िए, और उस पर आधाररत  प्रश्िों के 

उत्तर निरे्दशािुसार लिखिए:–                                                
एक गााँव में एक बूढा ककसान रहिा था, और वह बडा मेहनिी था। उसने ख़बू 
महेनि कर अपने खेिों की रखवािी की थी, और अपने िीनों बेटों की परवररश भी 
की। उसके िीनों बेटे बहुि आिसी थे जो ननठल्िे बैठे मुफ़्ि की रोटटर्ााँ िोडिे थे। 
ककसान अब बूढा हो चिा था, और कुछ टदनों बाद बीमार पड गर्ा। अब उसे र्ह 
चचिंा सिाने िगी कक उसके बाद खेिों की रखवािी कौन करेगा? बेटों का घर कैसे 
चिेगा? बेटों को सबक लसखाने की उसे एक र्ुस्ति सूझी। उसन ेिीनों बेटों को 
बुिाकर कहा कक हमारे खेि में ख़जाना गडा है। उसकी खदुाई कर िुम्हें जो 
खजाना लमिेगा, आपस में बााँट िेना। कुछ टदनों बाद ककसान की मतृ्र्ु हो गई। 
अब उसके बेटों ने खेि में खजाना पाने के लिए खदुाई शुरू कर दी। उन्होंने पूरा 
खेि खोद डािा, परन्िु उन्हें कोई खजाना नहीं लमिा, िो उन्होंने खेि जोिकर 
उसमें बीज ही बो टदए । उनकी मेहनि रंग िाई, और उनके खेि में सोने जसैी 
फ़सिें िहिहाने िगीं। अब उनकी समझ में आर्ा कक फ़सि ही असिी खजाना है, 
स्जस ेउन्होंने अपनी मेहनि से कमाई है। अब वे भी अपने पपिा की िरह खेिी-
बाडी का काम करने िगे। उन्होंने सीखा कक मेहनि और िगन से सब कुछ पार्ा 
जा सकिा है।  
(i) ककसाि और उसके बेटों के बीच एक-एक अांतर, और एक समािता को ढ़र्दए 
गए र्िे आरेि के माध्यम से र्दशावते हुए लिखिए:- 
 
 
 

(2×5=10) 
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(ii) ककसाि िे अपिे तीिों बेटों को क्यों कहा कक िेत में ख़जािा गड़ा है? 
(iii) इस कहािी में ककसाि के बेटों को क्या लशक्षा लमिी?         
(ि) निम्िलिखित गदयाांश को पिकर, कारण एर्ां प्रभार् बताते हुए उसके अिुसार 
उचचत उत्तर लिखिए:- 
अिंरराष्रीर् खेि प्रनिर्ोचगिाओं में नशीिी  दवाइर्ों का उपर्ोग ननरंिर बढिा जा 
रहा है। नशीिी दवाइर्ों के उपर्ोग से मनुष्र् की िाकि में वदृ्चि होिी है; हामोन 
बढिा है, िथा उनके कार्य करने की क्षमिा बढिी है। इसका प्रभाव थोड ेसमर् के 
लिए ही होिा है। बाद में इससे हानन ही होिी है। एक अनुमान के अनुसार िगभग 
150 खखिाडी पवश्वभर में इन दवाइर्ों की भेंट चढ चकेु हैं, िथा 200 खखिाडी 
कैं सर ग्रति हो चकेु हैं।   

कारण प्रभार् 
(i)______________________  (i)  पवश्वभर के अनेक खखिाडी 

जानिेवा बीमारी से ग्रति हो चकेु हैं। 
(ii) इनके उपर्ोग से िाकि में वदृ्चि, 
हामोन का बढना, कार्य क्षमिा का बढना 
क्षखिक ही होिा है। 

(ii)_____________________ 

(ग) निम्िलिखित गदयाांश को पिकर पूछे गए (आरेि आधाररत) प्रश्िों के उत्तर  
   लिखिए:- 
ककसी दसूरे देश से आई खबर थी। कौिूहि की वजह थी। किर जब वह पास 
आर्ा िो इस िाकि के साथ आर्ा कक मौि के डर स ेसब अपने घरों में दबुकने 
को पववश हो गए। िोग दू ू्ररर्ााँ बढाने िगे, चहेरा ढकने िगे। पहिी बार सरकारों 
न ेअपन ेफ़ैसिे राजनीनिक तिर पर नहीं, पवशषेज्ञों से पूछ्कर िी। प्रकृनि में भी 
नर्ा ननखार नजर आने िगा था। इस महामारी ने दनुनर्ा को बहुि कुछ सीखा 
टदर्ा था। 

 (i) गदयाांश का कें द्रीय भार् (मुख्य भार्/वर्चार ) क्या है?  
 (ii) र्दो बब ांर्दओुां को वर्स्तार से लिखिए, जो गदयाांश के कें द्रीय भार् का समर्वि  
   करते हैं।  
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कें द्रीर् भाव 

बबदं ुपवतिार 
बबदं ुपवतिार 
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2. प्रस्तुत चचत्रों के आधार पर निरे्दशािुसार प्रश्िों के उत्तर लिखिए:- 
(i) 'अनुतवार’ के प्रर्ोग वािा शब्द लिखखए:-  
 
(ii) टदए गए चचत्र के लिए ‘पवशषेि’ जोडकर  एक  नर्ा 
    शब्द लिखखए:- 

(1×2=2) 
 

3. निम्िलिखित प्रश्िों के लिए सर्ावचधक उपयुक्त वर्कल्प का चयि करके लिखिए:-  

(i) साप्ताढ़हक : इक :: खििौिा : ?      

(क) खखि    (ख) औना    (ग) खेि    (घ) ना 

(ii)  ------------ में िुक्ता का प्रयोग िहीां होगा। 

(क) रफ़्िार  (ख)  क़पविा  (ग) आवाज   (घ) काफ़ी 

(1×2=2) 

 

 

 

4. निम्िलिखित प्रश्िों के लिए सर्ावचधक उपयुक्त वर्कल्प का चयि करके लिखिए:- 

(i) निम्िलिखित र्ाक्यों में से प्रेरणार्वक किया र्ािा र्ाक्य छााँटकर लिखिए- 

(क) संजीव सो रहा है।           (ख) मैंने नई पुतिक खरीदी। 

(ग) मोना जोर से हाँस पडी।       (घ) लशक्षक ने बच्चों से पाठ पढवार्ा। 

(ii) भय के कारण उसकी निग्गी बाँध गई र्ी। रेिाांककत मुहार्रे का अर्व ………… है। 

(क) गिे से आवाज न ननकाि पाना   (ख) मूक-बचिर होना  

(ग) गिा सूख जाना               (घ) गिे में कुछ अटक जाना 

(1×2=2) 

 

 

 

   

5. निम्िलिखित प्रश्िों के लिए सर्ावचधक उपयुक्त वर्कल्प का चयि करके लिखिए:- 
(i) ढ़र्दए गए चचत्र के आधार पर सही पयावयर्ाची शब्र्द चिुकर लिखिए:-  
    
 
 
(क) िरु, घन        (ख) िरु, चगरर        (ग) िरु, वकृ्ष       (घ) िरु, िरा  
(ii) ‘जहााँ जाया ि जा सके’ र्ाक्याांश के लिए एक शब्र्द होगा-  
(क) सुगम           (ख) दगुयम           (ग) ननजयन                (घ) अगम 

(1×2=2) 
   
 
   
  

6. 
 
 

 निम्िलिखित वर्कल्पों में से सबसे लभन्ि वर्कल्प छााँटकर लिखिए:-  
(i) (क) सच्चाई     (ख) साहस            (ग) दखुी          (घ) पववशिा  
(ii) (क) िडके      (ख) िन्मर्           (ग) पटाखे         (घ) मकान 

(1×2=2) 
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7. निम्िलिखित रेिाांककत शब्र्दों के लिए उचचत वर्िोम शब्र्द का प्रयोग करते हुए 
िािी स्र्ाि भररए:-          
(i) मैं प्रात: और _______पूजा करने जािी हूाँ। 
(ii) िूिों में सुगांध होिा है, ________ नहीं। 

(1×2=2) 
 
   
 

8. (क) निम्िलिखित कर्िों को पिकर 'सही' या 'ग़ित' लिखिए:-    
(i) 'बचपन' शब्द भाववाचक संज्ञा है। 
(ii) ‘प्रबि' शब्द में 'बि' प्रत्र्र् है। 
(ि) निम्िलिखित रेिाांककत शब्र्दों की जगह वर्सगव चचह्ि र्ािे उचचत शब्र्द का    
    प्रयोग करते हुए र्ाक्य को र्दोबारा लिखिए:- 

  िुम अपनी दपुविा को बबिा ककसी सांकोच के हमें बिाओ। 

(1×3=3) 
 
 
 
 
   

9. िीच ेढ़र्दए गए ‘स्तांभ-I’ के शब्र्दों को ‘स्तांभ-II’ के शब्र्दों के सार् सही लमिाि करके 
लिखिए:-        

         स्तांभ-I         स्तांभ-II  
(i) चार् में कुछ पडा हुआ है। (क) कािवाचक-कक्रर्ापवशेषि 

(ii) पानी िो बहुि ठंडा है। (ख) अननश्चर्वाचक सवयनाम 

(iii) गीिा आज पटना चिी जाएगी। (ग) प्रपवशषेि 
 

(1×3=3) 
   
 
 
 
                           

10. (i) कर्ि : ‘मिुष्यता’ शब्र्द में ‘ता’ प्रत्यय जुड़ा हुआ हैI 
   कारण : ‘प्रत्यय’ मूि शब्र्द के अांत में जुड़कर िया शब्र्द बिाता है I  
(क)  कथन एवं कारि दोनों सही हैं, परंिु कारि कथन की सही व्र्ाख्र्ा नहीं  

    करिा है।  

(ख) कथन एवं कारि दोनों सही हैं, तर्ोंकक कारि कथन की सही व्र्ाख्र्ा करिा  

    है। 
(ग) कथन सही है, परंिु कारि ग़िि है।  

(घ) कथन ग़िि है, परंि ुकारि सही है। 
(ii) कर्ि : प्रत्येक र्गव का र्दसूरा और चौर्ा र्णव अल्पप्राण होता है।   
   कारण : जजि व्यांजिों के उच्चारण में हर्ा कम मात्रा में निकिती है, उन्हें  
          अल्पप्राण व्यांजि कहते हैं।   
(क)  कथन एवं कारि दोनों सही हैं, परंिु कारि कथन की सही व्र्ाख्र्ा नहीं  

    करिा है।  

(ख) कथन एवं कारि दोनों सही हैं, तर्ोंकक कारि कथन की सही व्र्ाख्र्ा करिा  

    है। 
(ग) कथन सही है, परंिु कारि ग़िि है।  

(घ) कथन ग़िि है, परंि ुकारि सही है। 

(1×2=2) 
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11. निम्िलिखित गदयाांश को ध्यािपूर्वक पिकर सर्ावचधक उपयुक्त वर्कल्प का चयि 
करके लिखिए:-  
तवामीनाथन को अचानक िगा कक उसे इिनी जल्दी बाहर नहीं आना चाटहए था। 
िेककन वह हॉि में और कैसे रुक सकिा था? िलमि का पेपर पााँच बजे िक 
चिने वािा था। उसने आखखरी सवाि की आखखरी पंस्ति साढे चार बजे िक लिख 
िी थी। छह प्रश्नों में से पहिा प्रश्न उसने संिोषजनक रूप से ककर्ा था, दसूरे के 
बारे में उसे संदेह था, िीसरा ठीक था और चौथे के बारे में उसे साफ़ पिा था कक 
वह गिि है (िेककन उसे सही उत्तर का भी पिा न था)। छठा उत्तर सबस ेअच्छा 
था। इसका उत्तर देने में उसे एक लमनट िगा था। उसने र्ह सवाि साढे चार 
बजन ेमें दो लमनट पहिे पढा, एक लमनट बाद उसने उत्तर लिखना शुरु ककर्ा और 
ठीक साढे चार बज ेख़त्म कर टदर्ा। 
(i) स्र्ामीिार्ि कहााँ से बाहर चिा आया र्ा? 
(क) घर से     (ख) तकूि से    (ग) परीक्षा हॉि से     (घ) खेि के मैदान से  
(ii) तलमि का पेपर ककतिे बजे तक चििे र्ािा र्ा? 
(क) चार       (ख) साढे चार        (ग) पााँच        (घ) साढे पााँच  
(iii) उसिे ककस प्रश्ि का उत्तर सांतोषजिक रूप से लििा र्ा? 
(क) पहिा      (ख) दसूरा          (ग) िीसरा        (घ) चौथा 
(iv) पढ़ित गदयाांश के आधार पर पाि का िाम ………. है। 
(क) नाटक में नाटक  (ख) बािूनी  (ग) तकूि की छुट्टटर्ााँ  (घ) सवाि का 
जवाब 
(v) स्र्ामीिार्ि को छिे प्रश्ि का उत्तर रे्दिे में ककतिा समय िगा र्ा? 
(क) एक लमनट   (ख) दो लमनट    (ग) चार लमनट       (घ) साढे चार लमनट 

(1×5=5) 
 
 
 
 
 
 
 
 
 
 
 

12. निम्िलिखित पदयाांश को ध्यािपूर्वक पिकर सर्ावचधक उपयुक्त वर्कल्प का चयि 
करके लिखिए:- 
      सावन की शोभा न्र्ारी, 
      हररर्ािी के ठाठ हैं। 

नदी सरोवर छिक रहे,  
डूब गए सब घाट हैं। 

          पिा ना चििा िारों का,                 
                          जाने कहााँ मर्ंक है। 
                          झााँक नहीं पािा सूरज, 
                           भादों का आिंक है। 

(1×5=5) 
 



6 
 

 (i) सार्ि के महीिे में िर्दी-तािाबों की क्या जस्र्नत हो जाती है? 
(क) हरे-भरे हो जािे हैं।                  (ख) िबािब भर जािे हैं।  
(ग) सूख जािे हैं।                    (घ) उबिने िगिे हैं। 
(ii) ककस महीिे में तारों का पता िहीां चिता? 
(क) भादो               (ख) सावन       (ग) कानियक       (घ) तवार 
(iii) िर्दी का बहुर्चि रूप होगा– 
(क) नटदर्ा            (ख) नदीर्ां           (ग) नटदर्ााँ        (घ) नदीर्ााँ 
(iv) ‘झााँक िहीां पाता सूरज’- पांजक्त का अर्व है-  
(क) सूरज का िुका-छुपी खेिना।                  (ख) सूरज का डर जाना। 
(ग) सूरज का टदखाई न देना।                  (घ) सूरज का अति हो जाना। 
(v) उपयुवक्त काव्याांश के रचिाकार हैं- 
(क) नारार्ि िाि परमार                          (ख) मंगि सतसेना  
(ग) आर. के. नारार्ि                             (घ) डॉ. रामगोपाि वमाय  

 
  
 
 
 

                                खडं – ‘ब’  

13. निम्िलिखित प्रश्िों में से ककन्हीां चार प्रश्िों के उत्तर िगभग 25-30 शब्र्दों में 
लिखिए:- 
(क) ‘बारहमासा’ कपविा में कानियक महीना में िूिझडडर्ााँ-पटाखे चिाने की बाि  
    कही गई है। आप कानियक महीना में अपनी ख़शुी कैसे व्र्ति करिे हैं,  
    लिखखए। 
(ख) ‘राकेश ने बबगड ेहुए नाटक को साँभाि लिर्ा था।’ अगर आपके समक्ष कभी  
    ऐसी प्रनिकूि पररस्तथनि उत्पन्न हो जाए, िो आप उस पररस्तथनि का सामना  
    राकेश के ककन गुिों को अपनािे हुए करना चाहेंगे?   
(ग) ‘ननमयिा, सााँप और सर्ाि’ पाठ के आिार पर लिखखए कक सच्च ेलमत्र का  
    चर्न करिे समर् आप ककन आवश्र्क बािों का ध्र्ान रखना चाहेंगे? 
(घ) ‘बािूनी’ अध्र्ार् के आिार पर लिखखए कक र्टद पडोसी के तथान पर आप  
    होिे िो िेखक के साथ कैसा व्र्वहार करिे? 
(ङ) तवामीनाथन को ब्राह्मि और शरे की कहानी से तर्ा लशक्षा लमिी थी? अगर  
   आप तवामीनाथन की जगह होिे िो कौन-सी लशक्षा ग्रहि करिे?  

(2×4=8) 

14. निम्िलिखित प्रश्िों में से ककन्ही चार प्रश्िों के उत्तर िगभग 40-50 शब्र्दों में 
लिखिए:- 
(क)  हमें समर् के साथ चिना चाटहए, तर्ों? िकय सम्मि उत्तर लिखखए। 

(3x4=12) 
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(ख) बफ़ीिी चट्टानों र्ा पहाडों पर चढाई करिे हुए हमें ककन-ककन बािों का ध्र्ान  
   रखना चाटहए? अपने पवचार लिखें।  
(ग) िन्मर् ने ककस पररस्तथनि में अपनी सच्चाई और साहस का पररचर् टदर्ा  
   था? िन्मर् की तवभावगि पवशषेिाओं पर प्रकाश डाििे हुए लिखखए। 
(घ) बुटढर्ा के घर से िौटिे हुए िेखक के मन में बुटढर्ा और उसके पररवार के  
   प्रनि ककस प्रकार का भाव था, और तर्ों ? 
(ङ) ‘प्राथयना के अिं में जैसे िूफ़ान आ गर्ा।’ तकूि की छुट्टटर्ााँ पाठ के आिार  
   पर उन प्रसंगों का उल्िेख कीस्जए जो उति कथन की पुस्ष्ट करिे हैं। 

15. निम्िलिखित में से ककसी एक वर्षय पर 80 शब्र्दों में अिुच्छेर्द लिखिए:-  
(क) मीठी वािी    (ख) मेरा पप्रर् त्र्ोहार       (ग) छात्र जीवन और अनुशासन 

(5) 

16. आपके पवद्र्ािर् में आर्ोस्जि ककसी टहदंी नाटक में आपने भी टहतसा लिर्ा  था। 
इससे संबंचिि अपने अनुभव को िगभग 100 शब्र्दों में  पत्र लिखकर अपने लमत्र 
के साथ साझा कीस्जए। 
                  अथवा 
शीिकािीन अवकाश में शैक्षखिक भ्रमि पर िे जाने की प्राथयना करिे हुए 
पवद्र्ािर् के प्रिानाचार्य को  िगभग 100 शब्र्दों में पत्र लिखखए।  

(5) 

17. र्ोगाभ्र्ास के महत्त्व पर दो लमत्रों के मध्र् हुई आपसी बािचीि को िगभग      
 60-70 शब्र्दों में संवाद के रूप में लिखखए। 
                      अथवा 
 सडक पार संबंिी ननर्मों पर आवश्र्क चचाय करिे हुए पपिा और पुत्र के मध्र्   
 हुई बािचीि को िगभग 60-70 शब्र्दों में सवंाद के रूप में लिखखए। 

(5) 

18. ककसी ‘शीिि पेर् पदाथय’ पवषर् पर िगभग 50-60 शब्र्दों में आकषयक पवज्ञापन 
बनाकर लिखखए।  
                                     अर्र्ा 
‘पेड िगाओ, जीवन बचाओ’ पवषर् पर िगभग 50-60 शब्र्दों में आकषयक पवज्ञापन 
बनाकर लिखखए।  
 

(5) 

 ************  
 



1 
 

                            D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
                              PERIODIC TEST-2 / HALF YEARLY EXAMINATION 

                                                   SESSION: 2024-2025  

     Class: VII                                                                                     Maximum Marks: 80 

     Subject: Bengali                                                                          Time: 3 Hours 

নির্দেনিকা:     ক) এই প্রশ্নপর্ে ম াট ৪ নট নিভাগ আর্ে। 
               খ) এই প্রশ্নপর্ে ম াট ১১ নট প্রশ্ন আর্ে। 
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B. 

 

 

 

 

নিভাগ - ক 
নিচের অিুর্েদ দুনট পর্ে নির্ে প্রদত্ত প্রশ্নগুনির সনিক উত্তরনি বেচে বেচ ো: 
পানখ সম্পর্কে মকৌতূহিটা আ ার অর্িক নদর্ির। মের্ির্িিায় আ ার্দর িানের্ত একটা মপাষা  য়িা 
নেি, মসটার্ক আন  একর্িার উপর িাাংিা িব্দ পনরষ্কারভার্ি উচ্চারণ করর্ত নিনখর্য়নেিা । আ ার 
ধারণা নেি, পানখ কথা িির্িও কথার  ার্ি মিার্ে িা। একিার এই  য়িাটাই এ ি এক কাণ্ড কর্র 
িসি মে, আ ার মস ধারণা প্রায় পাির্ট মগি। দুপুরর্িিা সর্ি াে আন  ইসু্কি মথর্ক নিরনে,  া 
মরকানির্ত ম াহির্ভাগ এর্ি নদর্য়র্েি, এ ি স য়  য়িাটা হঠাৎ ‘ভূন কম্প, ভূন কম্প’ ির্ি মিেঁনির্য় 
উঠি। আ রা মকার্িা কম্পি মটর পাইনি, নকন্তু পর্রর নদি কাগর্ে মির্রাি নসস্ম াগ্রাি ের্ে সনতিই 
িানক একটা  ৃদু কম্পি ধরা পর্ের্ে। মসই মথর্ক পানখর্দর িুনির মদৌে সম্পর্কে  র্ি একটা 
অিুসনিৎসা রর্য় মগর্ে, নকন্তু অিিািি পােঁি রক  বিজ্ঞানিক গর্িষণার  র্ধি ওটা নির্য় আর িিো করা 
হয়নি। আর একটা কারণ অনিনিি আ ার নেোি নিউটি। নিউটি পানখ পেন্দ কর্র িা, আর 
নিউটির্ক অখুনি কর্র আ ার নকেু করর্ত  ি িায় িা। সম্প্রনত, িয়র্সর েিিই মিাধ হয়, নিউটি 
মদখনে পানখ সম্বর্ি অর্িকটা উদাসীি হর্য় পর্ের্ে। মসই কারর্ণই আ ার িিাির্রটনরর্ত আিার কাক, 
িেুই, িানিক ঢুকর্ত আরম্ভ কর্রর্ে। আন  সকার্ি তার্দর মখর্ত নদই। মসই খার্দির প্রতিািায় তারা 
সূেে ওঠার আর্গ মথর্কই আ ার োিািার িাইর্র েটিা কর্র। 
i) মের্ির্িিায় গল্প কথর্কর িানের্ত নেি - 
a)  য়িা          b) নটয়া           c) নিোি           d) কাক 
ii) কথর্কর িিাির্রটনরর্ত মে মে পানখ ঢুকর্ত আরম্ভ কর্রনেি, মসগুনি হি - 
a) কাক, নটয়া ও িানিক।               b) কাক, িেুই ও  য়িা। 
c) নটয়া, িেুই ও  য়িা।                d) কাক, িেুই ও িানিক। 
iii) ‘আ ার মস ধারণা প্রায় পাির্ট মগি’- ধারণানট হি - 
a) পানখরা কথা িির্ত পার্র িা।                  b) পানখরা কথা ির্ি ও িুের্ত পার্র। 
c) পানখ কথা িির্িও কথার  ার্ি মিার্ে িা।      d) পানখ  ািুর্ষর কথা িুের্ত পার্র। 
iv) নিউটি হি - 
a) একেি নিজ্ঞািী    b) একনট পানখ   c) একনট  য়িা    d) একনট নিোি  
v) ‘উদাসীি’ িব্দনটর পদ পনরিতেি করর্ি হয় - 
a) উদানসি          b) ঔদাসীিি       c) উদানসিী        d) উদাসীিি 
 

নিজ্ঞার্ি কৃনে  িুনি ত্তা মেভার্ি নির্ের্ক নিকনিত করর্ে তার্ত একনদি মরাির্টর  র্ধিও অিুভূনতর 
নিহ্ন মদখা োর্ি। মসৌ িসুন্দর ির্ন্দিাপাধিার্য়র মিখা ‘স্বগের্িার্কর দরো নদর্য়’ গ্রর্ে এই ভািিার প্রকাি 
ঘর্টর্ে। তাই ‘নরনির ঈশ্বর’-এর কানহনি পের্ত পের্ত আ ার্দর কল্পেগর্তর দুয়ার োয় খুর্ি। 
রিীন্দ্রিার্থর ‘িীরপুরুষ’ কনিতার  র্তা িির্ত ইর্ে কর্র, ‘এ ি মকি সনতি হয় িা আহা!’ িিান্টানস 
মতা অিাস্তি, তাই গর্ল্পই গরু গার্ে ওর্ঠ। িাস্তর্ি মস  ানটর্তই থার্ক। এতসি মের্িও  ািুষ 

 

 

  

(1×10=10) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 



2 
 

 

 

 

 

 

রূপকথার রার্েি তার  ি হারায়। এখার্ি  র্ি রাখার নিষয় এই মে এই ধরর্ির গর্ল্প কল্পিার্ক 
এ িভার্ি উপস্থাপি করর্ত হয়, োর্ত সকর্ি তার সার্থ একাত্ম হর্ত পার্র। এর্ের্ে আধুনিক 
েীির্ির সর্ে তাি ন নির্য় তাই মসৌ িসুন্দর ির্ন্দিাপাধিার্য়র  র্তা মিখকরা প্রাসনেক হর্য় উঠর্েি। 
তােঁর ‘নরনির ঈশ্বর’ গল্পনট প্রথ  অর্েনিয়ার ‘ াদার অি ইির্ভিিি’ পনেকায় প্রকানিত হয়। িাাংিায় 
িতানধক পাতার এই িইনট ‘কল্পনিশ্ব’ িা ক একনট সাংস্থা প্রকািিার দানয়ত্ব নির্য়র্ে। শুধু তাই িয় 
হনিউর্ের ‘রাইটাসে অি দি নিউিার’ প্রনতর্োনগতায় মিখক ‘অিার্রিি ম িিি’ িা ক এক নির্িষ 
সম্মার্ি ভূনষত হি নতনি। এর নকেুনদি আর্গ ‘এ নকিার মটানর’ গর্ল্পর েিি নতনি আিারও একিার 
এই সম্মার্ির অনধকারী হি। এই নিশ্ব ার্ির প্রনতর্োনগতায় নতনি পােঁিিার এই পুরস্কার অেেি কর্রি।  
i) ‘স্বগের্িার্কর দরো নদর্য়’ গ্রর্ে মে ভার্ির প্রকাি ঘর্টর্ে মসনট হি - 
   a) আধুনিক েীিি নিশ্ব ার্ির প্রনতর্োনগতার অনধকারী। 
   b) নিজ্ঞার্ির কৃনে  িুনি ত্তার প্রভার্ি একনদি মরাির্টর  র্ধিও অিুভূনতর নিহ্ন মদখা োর্ি। 
   c) কল্পিার্ক িাস্তর্ির সার্থ ন নির্য় নিখর্ত হয়। 
   d) সকর্ির সার্থ একাত্ম হওয়াটা আিিিক।  
ii) ‘এ ি মকি সনতি হয় িা আহা!’-এই কথানট আর্ে - 
    a) ‘নরনির ঈশ্বর’ গর্ল্প।                b) ‘এ নকিার মটানর’ গর্ল্প।  
    c) ‘িীরপুরুষ’ কনিতায়।               d) ‘স্বগের্িার্কর দরো নদর্য়’ গ্রর্ে। 
iii) ‘নরনির ঈশ্বর’ গল্পনট প্রথ  মকাথায় প্রকানিত হয় - 
    a) ‘কল্পনিশ্ব’ পনেকায়।                b) ‘আিন্দিাোর’ পনেকায়।   
    c) ‘নদ নহনু্দ’ পনেকায়।                d) ‘ াদার অি ইির্ভিিি’ পনেকায়।   
iv) মসৌ িসুন্দর ির্ন্দিাপাধিায় ‘অিার্রিি ম িিি’ িা ক এই পুরস্কারনট মপর্য়র্েি -  
    a) ে-িার          b) পােঁিিার           c) নতিিার                 d) সাতিার 
v) ‘িাস্তর্ি মস  ানটর্তই থার্ক।’ মরখানিত পদনট হে - 
   a) ক েকারক        b) অনধকরণ কারক   c) অপাদাি কারক         d) নিন ত্ত কারক  

 

2. 

নিভাগ- খ 
পত্র রেিো কচরো: (মে মকার্িা একনট) 
িায়ুদূষবের  াো নিয়ের্ণর উপায় োনির্য় মতা ার ভাই/ মিাির্ক একনট পে মির্খা। 

অথিা 
িিসৃের্ির উপকানরতা োনির্য় িিু/িািিীর্ক একনট পে বেচ ো। 

 

   (5×1=5) 

 

3. অিুর্েদ রিিা কর্রা: ( মে মকার্িা একনট) 
ক) েোাংেোর ম িা             খ) দৈিনিি জীেচি নেজ্ঞোি            গ) ব োমোর জীেচির েক্ষ্য 

   (5×1=5) 

 

4. 

নিভাগ- গ 
নির্ির প্রশ্নগুনির নির্দেি অিুোয়ী উত্তর দাও: 
A. িূিিস্থাি পূরণ কর্রা: 
 ক) ‘সম ’ ও ‘পনর’ উপসগেদুনটর পর ‘কৃ’ ধাতু - নিষ্পন্ন পদ থাকর্ি ওই পদনটর আর্গ   
    একনট____________ আর্স। 
 খ) োচ  + িা = _________   
 গ) উনু্মক্ত = উৎ + ______  
 ঘ) মে িিঞ্জিসনিগুনি মকার্িা_____ ম র্ি সাংঘনটত হয় িা, তার্দর ির্ি নিপাতর্ি নসি িিঞ্জিসনি। 
 ঙ) পতৎ + অে = ___________ 

 

 

 

(1×10=10) 
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B. সনঠক উত্তর নিিোিি কর্রা: 
   ক) ‘সাংসোর’ িব্দনটর সনি নির্েদ করর্ি হর্ি -   

i) সম্ + সর  ii) সাং + সোর  iii) সম  + সোর  iv) বকোচিোিোই িয়    
 ) িিঞ্জিসনি হয় - 
i) স্বরধ্বনির সার্থ স্বরধ্বনির ন ির্ি।                ii) িিঞ্জি ও স্বরধ্বনির ন ির্ি।    
iii) িিঞ্জিধ্বনির সার্থ িিঞ্জিধ্বনির ন ির্ি।          iv)  নিকল্প ‘ii’ এিাং ‘iii’ উভর্য়ই সনঠক।   

   গ) নিেনিনখত িাকিগুনির  র্ধি মে িাকিনট সনঠক িয় মসনট নিিোিি কর্র মির্খা: 
    i)  পর + পর = পরস্পর এনট একনট নিপাতর্ি নসি িিঞ্জিসনির উদাহরণ। 
    ii) নহন  + সা = নহাংসা - মত দন্ত্ি ‘ি’ এর পর্র উষ্মিণে ‘স’ থাকায় দন্ত্ি-ি অিুস্বোচর পনরণত    
        হর্য়র্ে।    
   iii) মগা + পদ = মগাষ্পদ একনট খােঁনট িাাংিা সনির উদাহরণ।  
   iv) ‘উৎ’ উপসর্গের পর্র ‘স্থা’ ধাতুর মকার্িা পদ থাকর্ি ওই পর্দর স-কার্রর মিাপ হয়।  
    ঘ) িা  নদর্কর সার্থ োি নদক নমনেচয় সনঠক উত্তর নিিোিি কর্রা: 

েোম নৈক োি নদক 
a. মষােি 
b. তৎপর 
c. উচ্ছ্বাস 
d. নিন্ময় 

১. তদ  + পর 
২. ষট  + দি 
৩. নিৎ +  য় 
৪. উৎ + শ্বাস 

           i) a.-১, b.-৪, c.-৩, d.-২                      ii) a.-৪, b.-৩, c.-২, d.-১ 
           iii) a.-৪, b.-৩, c.-১, d.-২                     iv) a.-২, b.-১, c.-৪, d.-৩   
   ঙ)  ন্ত্িি: সনি ির্ব্দর অথে হি ন িি। 
       েুনক্ত: পূেব ির্ব্দর প্রথ  ধ্বনি ও পচরর ির্ব্দর মিষ ধ্বনির  র্ধি এই িিাকরণগত প্রনিয়ানট   
             সম্পন্ন হয়। 
    i)    ন্ত্িি শুি নকন্তু েুনক্ত অশুি।               ii)  ন্ত্িি অশুি নকন্তু েুনক্ত শুি।  
   iii)  ন্ত্িি ও েুনক্ত উভর্য়ই শুি।                iv)  ন্ত্িি ও েুনক্ত উভর্য়ই অশুি। 

5. নির্ির প্রশ্নগুনির নির্দেি অিুোয়ী উত্তর দাও: 
A. সতি/ ন থিা নিণেয় কর্রা: 
  ক) শব্দ নিভনক্ত ও অিুসর্গের  র্ধি প্রধাি পাথেকি হি অিুসর্গের অথে বিই,  নকন্তু শব্দ নিভনক্তর অথে       
      আচে। 
   ) ক েপ্রিিিীয় হে অিুসর্গের অপর িা ।  
B. িূিিস্থাি পূরণ কর্রা:  
 ক) ‘এ’ নিভনক্তর্ক নতেেক নিভনক্ত ির্ি, কারণ ‘এ’ নিভনক্ত ___________ পদ োো সি কারর্ক   
      িিিহৃত হয়।  
  ) িার্কির স ানপকা নিয়ার্ক ‘কী’ িা ‘কার্ক’ নদর্য় প্রশ্ন করর্ি মে উত্তরনট পাওয়া ো, মসনট  
      _____________ কারক হয় । 
C. নিের্রখ পদগুনের কারক নিণেয় কর্রা: 
   ক) িক্ষ্মণ কতৃেক ম ঘিাদ নিহত হি।                           ) কী  ার ম র্রর্ে।  
   গ) িোকোয় কী িো হয়।                                        ঘ) ির্ি থার্ক িাঘ।  
   ঙ) মিিা মে পর্ে এি েির্ক িি।                            ে) মেি মটিি মথর্ক োেি। 

(1×10=10) 
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6. 

নিভাগ- ঘ 
নির্ির প্রশ্নগুনির নির্দেি অিুোয়ী উত্তর দাও: 
ক) সনঠক উত্তরনট নিিোিি কর্র মির্খা: 
i)  ‘েিসে’ গর্ল্প বে স র্য়র কথা িিা হর্য়র্ে, বসনি হে - 
    a) িষো   b) িীত   c) িসন্ত্    d) গ্রীষ্ম   
ii)  ‘ রি মতা মখর্য়ই  নর।’- িক্তা হচেি- 
    a)  াধি নির্রা নণ   b) আিদুর্ির  া    c) শ্রী ন্ত্ নিশ্বাস     d) উ া   
 ) নির্ির প্রশ্নগুনির েথােথ উত্তর দাও:  
i)  ‘র্দখিার েিি  ি েট্িট্ করর্ে।’- কী মদখিার েিি কথর্কর  ি েট্িট্ করর্ে ? 
ii) ‘তা িাইর্রর পােঁিেির্ক মের্ক মের্ক মিািািার  র্তা হয় িা।’- কী িাইর্রর পােঁিেির্ক মের্ক   
    মিািািার  র্তা হয় িা? 
iii) পেিার ঘর্র মতর্ির িানত জ্বর্ি উঠর্ি কী হয়? 

 

(1×5=5) 

 

7. নির্ির প্রশ্নগুনির নির্দেি অিুোয়ী উত্তর দাও: 
ক) ‘ির্  মরাদ পর্ে এি।’- মরাদ পর্ে আসার ির্ি কী হর্য়নেি ? তুন  নক  র্ি কর্রা তারািােঁদ  
     নিশ্বাস েিসে িনসর্য় কােটা নঠক কর্রর্ে, মতা ার উত্তর্রর সপর্ে েুনক্ত দাও। 
খ) ‘িুর্ো মঘাো পোেনক-গোনিচ  কচর মটর্ি নির্য় িিি আ ায় দিটা-িারটার আন্দা ার্ি।’ িক্তা 
‘দিটা-িারটার আন্দা াি’ িির্ত কী িুনের্য়র্েি? মিখক মকি এই কথানট ির্ির্েি তা েুনক্তসহ 
নির্েষণ কর্রা।   

  

 

(2+3) 

 

 

(2+3) 

8. নির্দেি অিুোয়ী িীর্ির প্রশ্নগুনির উত্তর দাও:  
ক) অথে মির্খা: মরোে                               খ) নেপরী োথেক িব্দ মির্খা: িীরে 
গ) ভক্ত পুর্রানহত সারানদি কী করর্তা ?             ঘ) ‘বৈে োর নেৈোয়’ কনে োনি কোর বে ো? 
ঙ) নভখানর কার  ূনতে ধারণ কর্রনের্িি ?  

(1×5 =5) 

9. নির্ির প্রশ্নগুনির েথােথ উত্তর দাও: 
ক) সপ্রসে িিাখিা মির্খা:   ‘েোইচে ভোনসয়ো সুচ ,     হিোৎ আহ  েুচক    
                                একনট কু ার - অর্ি হইি পতি।’ 
খ) ‘গৃহহীর্ি গৃহ নদর্ি আন  থানক ঘর্র।’—মক কার্ক কখি এ কথা ির্িি? নতনি মকি এই কথা 
ির্িনের্িি? 

  

  (5×1=5) 

   

 

(3+2=5) 

10. নির্ির প্রশ্নগুনির েথােথ উত্তর দাও:  
ক) ‘এখি মস গ্রা  দুইখানিও িাই।’- গ্রা দুনটর িা থাকার কারণ কী ? 
খ) োের্দর উৎসাহ িৃনির েিি হীরু ৈত্ত ব্রে  াটারবক নৈচয় কী কী নজনিস আনিচয়নেচেি? 
গ) ‘তা নকন্তু এক নদর্িই নঠক হয়নি।’- কী এক নদর্িই নঠক হয়নি ? 
ঘ) হিাম্বিেি ক্লার্ির মিেঁর্ধ মদওয়া নিয়  অিুোয়ী নির্কট িিাট িওোয় কতটা নেে ?  
ঙ) উইিস-এর মিষ মখিা মকান্  ার্ঠ অিুনি  হচয়নেে ?  

 (1×5=5) 

 

11. নির্দেি অিুোয়ী নিমির প্রশ্নগুনির উত্তর দাও:   
ক) ‘তথায় সু্কিনট িি হইয়া মগি।’- সু্কিনট িি হিার কারণ নির্েষণ কর্রা। 
 ) ‘নকেুনদি পর্রই মদখা মগি, আম্পায়ারর্দর ির্োই অসুনিধা হর্ে।’—আম্পায়ারর্দর অসুনিধা 
হওয়োর কোরেনি নিচজর ভোষোয় েেবিো কচরো। 

 

     

(2) 

      (3) 

**************** 
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 D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

 PERIODIC TEST -2/ HALF YEARLY EXAMINATION 

SESSION: 2024-2025 
Class: VII                     Maximum Marks: 80 

Subject: English                                       Time:3 Hours 
 

General Instructions: 

1. This paper consists of four sections: A , B , C  and D 

2. There are 16 questions and all are compulsory. 

3. Question number 4, 5 and 6 have internal choices. Attempt any one from each question. 

4. Read each question carefully and follow the instructions. 
 

 SECTION A : READING SKILL (20 MARKS)  
 

1. 
 

Read the passage carefully and answer the following questions: 

‘Pather Panchali’ (Song of the Little Road), directed by Satyajit Ray and released in 1955, 

is the first film in the renowned Apu Trilogy. Based on the novel by Bibhutibhushan 

Bandyopadhyay, it tells the story of Apu and his family living in rural Bengal. The film 

follows Apu’s childhood, depicting the family's poverty, struggles, and small joys with 

profound realism and empathy. Notable characters include Apu’s sister Durga, whose 

untimely death deeply affects the family. Apu's father, Harihar, is a priest and a writer, 

struggling to make ends meet, while his mother, Sarbajaya, faces the daily challenges of 

poverty with resilience and determination. 

The film captures the essence of rural India, portraying the beauty and hardship of village 

life. The lush green landscapes, the changing seasons, and the simple yet poignant moments 

of daily life are beautifully depicted. The bond between Apu and Durga, their innocent 

adventures and their dreams of a better future are at the centre of the narrative. 

Celebrated for its poetic visual style, humanistic approach, and Ray's masterful direction, 

‘Pather Panchali’ won numerous international awards, including the Best Human Document 

at the 1956 Cannes Film Festival. The film is considered a landmark in Indian and world 

cinema, influencing generations of film makers with its honest and sensitive portrayal of 

human relationships and social realities. 

 

 

 a) What is the main setting of ‘Pather Panchali’? (1) 

 b) What aspect of Apu and Durga’s relationship is highlighted in the film? (1) 

 c) What is the significance of ‘Pather Panchali’ in the field of cinema? (1) 

 d) What incident deeply affects Apu’s family? (1) 

 e) How does Harihar’s occupation affect the family’s financial situation? (2) 

 f) What elements of rural India are depicted in ‘Pather Panchali’? (2) 

 g) If indecisive: determined:: instability : _____________ (1) 

 h) Find out the word from the passage which means - ‘skillful’. (1) 
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2. 
 

Read the poem carefully and answer the following questions:   

Fame is a food that dead men eat, 

I have no stomach for such meat. 

In little light and narrow room, 

They eat it in the silent tomb, 

With no kind voice of comrade near 

To bid the banquet be of cheer. 

But Friendship is a nobler thing, 

Of Friendship it is good to sing. 

For truly, when a man shall end, 

He lives in memory of his friend, 

Who doth his better part recall, 

And of his faults make funeral. 

 

 

 a) What does the poet mean by the expression ‘Fame is a food that dead men eat’. (1) 

 b) Find a word from the passage which means ‘burial’ or ‘cremation’.  (1) 

 c) According to the poet, how does a man remain alive even after his death? (1) 

 d) What, according to the poet, is a nobler thing?  (1) 

 e) Identify the literary device used in the line ‘To bid the banquet be of cheer’ (1) 

3. Read the passage and answer the following questions:  

Economics is about making choices and managing resources to meet our needs and wants. 

It helps us to understand how people use their money, time, and resources to live their lives. 

Needs are things we must have to live, like food, water, and shelter. Wants, on the other 

hand, are things that make our life more enjoyable but are not essential, like toys, gadgets 

or fancy clothes. Economists study how people decide what to buy with their money 

balancing their needs and wants. 

Next is the concept of scarcity. Scarcity means that resources like money, time, and 

materials are limited, while our needs and wants are unlimited. Because of scarcity we must 

make choices about how to use our resources wisely. Another important concept is saving 

and spending. Saving means setting aside some of your money. This is important because it 

helps you prepare for future needs or emergencies.  

Finally, budgeting is the way to plan how to use your money. A budget is a sample that 

helps you decide how much money to save and how much to spend. By creating a budget, 

you can make sure that you have enough money for important things and avoid running out 

of money.  

Understanding of these basic economic ideas can help you make better choices with your 

money and resources as you grow up. 

   

 

 a) What according to the passage, is the primary reason for saving money? (1) 

 b) What do you mean by the term ‘budgeting’?                                                                                                             (1) 

 c) What do economists study? (1) 

 d) Find a word from the passage which is the antonym of ‘abundance’.      (1) 

 e) How does economics help us?  (1) 
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SECTION B : WRITING SKILL (16 MARKS) 

4. 

 

Prepare a profile of Mary Kom, an Indian boxing champion, based on the provided 

clues: 

Aged: Around 41 years, athletic built, determined and resilient personality. 

Family: Born in a rural family in the state of Manipur, India. 

Education: Completed her schooling in Manipur; pursued a career in sports. 

Hobbies: Enjoys reading, farming, and social work. 

Profession: Professional boxer, Member of Parliament in Rajya Sabha 

Achievements: Six-time world boxing champion, Olympic bronze medalist (2012),       

recipient of Padma Bhushan (2013), Padma Vibhushan (2020) and 

Padma Shri (2006). 

Recognition: Known as ‘Magnificent Mary’, an inspiration for aspiring athletes, 

especially women in sports. 

OR 

You are Mohit Patil / Meena Singh, the Head Boy/Head Girl of Sunshine High School, 

Pune. Draft a notice to be put up on the school notice board inviting students to participate 

in the Annual Science Exhibition. Provide all necessary details in not more than 50 words. 

(4) 

 

5. 

 

 

Last week, your school organized a ‘Grandparents’ Day Celebration’ to honour the precious 

life lessons and guidance provided by the grandparents. As the student editor of your school 

magazine, write a report detailing the activities, students’ performances, and speeches that 

highlighted the influence of grandparents on the personal growth and inculcating of values. 

Use ideas from the unit ‘Relationships’ of My English Reader Book. (Word Limit : 120 ) 

OR 

Imagine you are Rohit/Rohini Singh, residing at D/2, Evershine Nagar, P.N. Road, Nagpur. 

Taking hints from the unit ‘People at Work’ of My English Reader Book, write a letter to 

your friend Anjali/Anand sharing your thoughts on the impact of a good teacher in shaping 

students' lives. Discuss the qualities you admire in teachers and how they inspire the 

students to gain wisdom, build character, and confidence. Include examples from your own 

experiences to support your views. (Word Limit :120) 

 

        (6) 

 

6. 

 

You are Aman/Ayesha of Model Town, Delhi. The playgrounds and recreational facilities in 

your area are in poor condition and not safe for children. Write a letter to the Editor of 

Hindustan Times, Delhi, urging the local authorities to improve and maintain these facilities 

for the benefit of the community. 

OR 

Imagine you are Harsh / Harshita Choubey. Today, you participated in a school event where 

students from different grades worked together to create a community garden in a place 

adjacent to your school. Write a page in your diary to record your experience, describing 

how did you feel to work with students of different ages, and what have you learned about 

teamwork and environmental conservation. 

 

(6) 

 SECTION C : GRAMMAR (20 MARKS)  

7. Fill in the blanks with the suitable modals given in the brackets:     

a) She _______ drive a car. (might/can/will/ought to) 

b) It _______ rain today. (could/may/can/ought to) 

c) You ______ follow the rules of the country. (may/must/shall/will) 

(1×3=3) 
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8. Identify the subordinate clauses in the following sentences and state their types: 

a) Mary had a little lamb whose fleece was white as snow. 

b) I fear that I shall fail. 

c) You may sit wherever you like. 

(1×3=3) 

 

9. Do as directed:      

a) Please give me a glass of water. (Identify the type of sentence.) 

b) The team captain_________________. (Add a suitable predicate) 

c) Jaffar called me yesterday. I was not able to attend his call. (Use a coordinating  

   conjunction to form compound sentence) 

(1×3=3) 

 

10. Identify the verbs and state whether they are transitive or intransitive:  

a) The girls carry water to their village 

b) The baby laughed loudly. 

c) The children played outside.  

(1×3=3) 

11.  

 

 

 

 

a) The following passage has not been edited. There are some errors. Find out the 

incorrect words and write the correct ones:                  

                                                                                Incorrect            Correct                                                                                                             

I was a eyewitness to                                                         i)   _______      ________ 

a accident on Delhi-Panipat line.                                      ii)  _______       ________ 

I was travelling by an Shatabdi Express.                          iii) _______       ________  

I heard a loud explosion when an train                             iv) _______       ________ 

was about to reach Sonipat.   

(1×4=4) 

 

   b) Rearrange the following jumbled words to form meaningful sentences:  

i) living/was/religion/Gandhiji/a/force/to 

ii) studied/to find/different/approach to life/religions/correct/a/he 

iii) to shed/this/mindedness/helped him/narrow 

iv) he/tolerant/ultimately/became/other religions/for      

(1×4=4)

  

 

12. 

SECTION D : LITERATURE (24 MARKS) 

Read the extract given below and answer the questions that follow: 

‘A world I dream where black or white, 

Whatever race you be, 

Will share the bounties of the earth, 

And every man is free’ -  

 

(1×4=4) 

a) What is the poet’s main dream in this extract? 

i) A world where people of different races are separated. 

ii) A world where only some people get the benefits of the earth’s resources. 

iii) A world where all people, regardless of race, live together and share resources equally. 

iv) A world where races compete against each other for resources. 

 

b) In the context of this poem, what does the word ‘bounties’ most likely refer to? 

i) wealth and resources        ii) challenges              iii) punishments                iv) traditions 

 

c) What do the terms ‘black’ and ‘white’ in the given extract symbolize?  

i) literal colours                                                ii) different seasons 

iii) racial and social differences                       iv) contrasting weather conditions 

 

d) What can we infer about the poet's view on freedom from this extract? 

i) Freedom should be given only to certain races. 

ii) Freedom is a universal right that should be available to everyone. 
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iii) Freedom has no importance in the poet’s dream. 

iv) Only people with resources should be free. 

13. Read the extract given below and answer the questions that follow: 

‘Swami hurriedly got up and spread his bed under the bench and crouched there’ 

(1×4=4) 

a) Who instructed Swami to sleep alone in the office room? 

i) Swami’s friends.                                                           ii) Swami’s mother.      

 iii) Swami’s father.                                                           iv) Swami’s granny          

 

b) Why did Swami choose to sleep under the bench? 

i) It was more comfortable.                                          ii) It was closer to his father. 

iii) It was a quieter spot.                                               iv)  It was a safe and reassuring place. 

 

c) Which emotional state of Swami is suggested through his action of spreading his bed under 

the bench and crouching there? 

i)  He is feeling scared and seeking safety.                   ii) He is feeling brave and confident. 

iii) He is feeling excited and adventurous.                   iv) He is feeling sleepy and relaxed. 

 

d) What does the word ‘crouched’ mean in this context? 

i) sat comfortably                                                            ii) stood tall      

 iii) knelt down or bent low                                            iv) laid down flat 

 

14. Answer the following questions briefly: (30 – 40 words)      (2×4=8) 

a) According to the soldier in ‘Stone Soup in Bohemia’, what was the speciality about the 

stones? 

 

b) Manjula Parelkar dropped the clipping. “What a brave boy!” She thought. “He didn’t give 

up. He played on, despite what other people said” - Who is ‘a brave boy’ referred to here? 

Why is he called brave? 

 

c) ‘Tutu was a source of amusement and trouble at the same time’. Defend the statement 

with two instances from the story ‘Monkey Trouble’. 

 

d) ‘The bird prefers freedom over materialistic pleasure’? Justify the statement in context to 

the poem ‘Birdie will you pet?’. 

 

15. The story ‘Fight, Manju, Fight’ illustrates the proverb ‘Where there is a will there is a way’ 

and Manjula is a burning example of this proverb. Discuss how she proved herself to be a 

motivating factor for others. 

(4) 

16. Imagine you are a villager who contributed to the stone soup, as described in the story 

‘Stone Soup in Bohemia’. Write a diary entry reflecting on your thoughts before and after 

the event. Discuss how your perception of the soldier changed and what you have learned 

from the experience. 

(4) 

****************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/HALF YEARLY EXAMINATION 

SESSION: 2024-2025 
Class: VII                                 Maximum Marks: 80 

Subject: Mathematics     `                            Time: 3 Hours 
General instructions: 

• All questions are compulsory. 

• The question paper consists of 36 questions divided into 5 sections A, B, C, D and E. 

• Section A comprises of 16 questions of 1 mark each.  

• Section B comprises of 6 questions of 2 marks each.  

• Section C comprises of 7 questions of 3 marks each.  

• Section D comprises of 4 case studies 4 marks each. 

• Section E comprises of 3 questions of 5 marks each. 

• There is no overall choice. However, an internal choice has been provided in five questions of 1 

mark, two questions of 2 marks, two questions of 3 marks, one question of 5 marks. 

. 

 SECTION – A  

1. Convert  
𝟏

𝟏𝟔
 in its decimal form. (1) 

2.   −
𝟓

𝟑
 lies to the_______ side of zero on the number line. 

OR 

Express
−𝟑

𝟖
 as rational number with numerator 12. 

(1) 

3. Write any two rational numbers equivalent to −
𝟕

𝟖
 . (1) 

4. Express 2a3b2 as a product of its any two factors. 

OR 

Find the HCF of 18ab2 and 24c2b. 

(1) 

5. A regular polygon has nine lines of symmetry. What is the number of sides of the 

polygon? 

(1) 

6. Express 8.75 as a rational number in standard form. (1) 

7. Find 10% of 10% of 100. 

OR 

What percent of natural numbers from 1 to 20 are prime? 

(1) 

8. The centroid of a triangle divides each one of the medians in the ratio __________. (1) 

9. Multiply 
𝟕

𝟓
𝒙𝟐𝒚 by 

𝟑𝟓𝒙

𝒚𝟐
 . (1) 

10. Where does the circumcentre of a right-angled triangle lie? (1) 

11. Find a rational number between 
𝟕

𝟓
 and 

𝟖

𝟏𝟓
. (1) 

12. Fill in the blank: 

In a triangle, the exterior angle is equal to the sum of the _____________ interior 

opposite angles. 

OR 

Medians of a triangle are _______________. 

(1) 
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13. The dotted line represents a line of symmetry. 

 Find x in the given angle. 

 

 

 

(1) 

 

 

 

 

 

14. What is the additive inverse of  
𝟑

𝟕
 ? (1) 

15. Find the value of :  𝟔. 𝟒 ÷ 0.2 

OR 

Simplify and express the result as decimal:    12×12.2×1.5 

(1) 

16. 
Fill in the blank: 1_____

8

3
=

−
 

(1) 

 SECTION – B  

17. In an isosceles triangle, the base angle is twice as large as vertex angle. Find all the 

angles of the triangle. 

(2) 

18. Without actual division, determine if −
𝟐𝟖

𝟓𝟎𝟎
 is a terminating or non-terminating decimal 

number. 

OR 

Find the decimal representation of the rational number −
𝟏𝟗

𝟕
 . 

(2) 

19. 
Find the value of  𝟏 −

𝟏

𝟏+
𝟏

𝟔

 . 

OR 

Find the reciprocal of  
4

5
× (

3

−8
). 

(2) 

20. Factorise: 

 a2 + 2a + ab + 2b 

(2) 

21. Find the amount from the investment of ₹5,500 for two years at 5 paise per rupee 

interest. 

(2) 

22. Simplify 
𝟏

𝟓
+

𝟑

𝟏𝟎
−

𝟒

𝟐𝟓
 and express the result in the decimal form. (2) 

 SECTION – C  

23. Arrange the following in descending order.  

−
𝟏

𝟐
,    

𝟐

𝟓
,   

𝟖

−𝟏𝟓
,    

−𝟑

−𝟏𝟎
  

 

(3) 

24. 
Find the value of |𝑥 + 𝑦| by taking 𝑥 =  

3

1
 , 𝑦 =  

5

1−
. 

(3) 

25. In the given figure, find the 

measure of ∠𝐶𝐴𝐵, ∠𝐴𝐵𝐶, ∠𝐴𝐶𝐵.                                                         

 

 

 

 

(3) 
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26. Simplify and express the result as a rational number in its lowest form:  

5

1

2

1

001.0101.0

005.005.05.0
+−




 

 

(3) 

27.  Simplify:  3𝑥2(3𝑦2 + 2) − 𝑥(𝑥 − 2𝑥𝑦2) + 𝑦(2𝑥2𝑦 − 2𝑦) 

OR 

Factorise : (𝑎 + 𝑏)(2𝑝 − 𝑞) +  (𝑎 + 𝑏)(2𝑞 − 2𝑝) 

(3) 

 

 

28. Lines l and m are the lines of symmetry of the line segments XY and YZ respectively. 

 If  XA = 5 cm and XZ = 30 cm, find AY , BZ and AB. 

                                                                                                                      

 

 

 

(3) 

29. Simple interest on a sum of money is 
𝟗

𝟏𝟔
 of the sum. If the rate of interest is 𝟒

𝟏

𝟐
% per 

annum, find the time. 

OR 

For a student to clear an examination, he must score 60% marks. If he gets 120 marks 

and fails by 30 marks, what is the total marks for the examination? 

(3) 

 SECTION – D (CASE STUDY BASED QUESTIONS)  

30. One day, I went to my colony park. I saw there were many people who were busy in their 

routine. I found there were 150 people. 18 of them were jogging, 24 of them were doing 

Yoga, 36 were busy in laughing therapy and rest of the people preferred to walk. 

Based on the above information, answer the following questions (Any Four). 

a) What percent of people were jogging? 

(i) 15%            (ii) 12%         (iii) 10%          (iv) 20% 

b) What percent of people were doing Yoga? 

(i) 12%            (ii) 36%         (iii) 16%           (iv) 20% 

c) How many people preferred to walk? 

(i) 72               (ii) 62             (iii) 52             (iv) 82 

d) What percent of people were engaged in laughing therapy? 

(i) 22%            (ii) 24%         (iii) 30%          (iv) 26% 

e) What percent of people were laughing and doing yoga? 

(i) 35%            (ii) 45%         (iii) 50%          (iv) 40% 

 

(4) 
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31. The history of mathematics in India spans several millennia, marked by significant 

contributions that have profoundly influenced global mathematical thought. Ancient texts 

like the Sulbasutras introduced geometric principles, while scholars such as Aryabhata, 

and Brahmagupta developed foundational concepts in arithmetic, algebra, and 

trigonometry. 

 Akash a student of class VII wanted to create a beautiful design on the cover of his 

mathematics scrapbook where he collected information about Indian mathematician 

Brahmagupta and his contributions to mathematics, he wrote Brahmagupta in a beautiful 

rectangular structure as shown below: 

 

 

 

Based on the above information, answer the following questions (Any Four): 

a)  The alphabet having no line of symmetry: 

(i) M   (ii) A (iii) T   (iv) P 

b)  The alphabet having two lines of symmetry: 

(i) M   (ii) H (iii) T (iv) B 

c)  The alphabet having one line of symmetry: 

(i) A   (ii) T (iii) M   (iv) All of these 

d) The alphabet having both horizontal and vertical lines of symmetry: 

(i) H   (ii) A (iii) P   (iv) T 

e)  How many lines of symmetry an isosceles triangle has? 

(i) 0   (ii) 1 (iii) 2 (iv) infinite 
 

(4) 

32. A road is made by a group of workers. From Day 1 to Day 4, they made different length 

of the total road. The length of the total road they made in each day is given below: 

Based on the above information, answer the following questions (Any Four): 
 

 

 

 

a) On which day, highest length of the total road is made? 

(i) Day 1                                                     (ii) Day 2      

                       (iii) Day 3                                                   (iv) Day 4 

b) Which of the following rational number is equivalent to 
105

300
 ? 

(i)  
3

10
                                                (ii) 

7

20
             

 (iii) 
1

5
                                              (iv) 

3

20
 

 

DAY FRACTION OF LENGTH OF 

TOTAL ROAD 

1 3

20
 

2 7

20
 

3 1

5
 

4 3

10
 

(4) 

BRAHMAGUPTA 
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c) Which of the following option is correct? 

(i) 
3

20
>

1

5
                                         (ii) 

3

10
>

7

20
 

(iii) 
1

5
>

3

10
                                       (iv) 

7

20
>

1

5
 

 

d) 
1

5
=

𝑥

−45
 , the value of 𝑥 is - 

(i) −5                      (ii) 5                     (iii) −9                          (iv) 9 

e) On which day, least length of the total road is made? 

(i) Day 1                                                     (ii) Day 2      

                       (iii) Day 3                                                   (iv) Day 4 

33. One day, Ramesh and his friend were flying kites. 

Suddenly, Ramesh’s kite flew to the top of a tree which 

was of 20 meters height. He brought a ladder of 13 meters 

long and placed one end 5 meters away from the base of 

the tree. 

Based on the above information, answer the following 

questions (Any Four): 

 

a) What is the height of the tree where the Ladder 

touches it? 

            (i) 14𝑚                          (ii) 13𝑚           

            (iii) 12𝑚                        (iv) 10𝑚 

b) What is the perimeter of the triangle formed? 

(i) 38𝑚          (ii) 28𝑚          (iii) 30𝑚          (iv) None of these. 

c) The longest side of the right angled triangle is called - 

(i) Perpendicular                (ii) Base 

(iii) Perimeter                    (iv) Hypotenuse 

d) An isosceles right angled triangle has the angles - 

(i) 900, 600, 300                           (ii) 900,450,450 

(iii) 900,620,280                          (iv) Can’t say 

e) In a right angled triangle, hypotenuse is - 

(i) Adjacent side of right angle         (ii) Opposite side of right angle 

(iii) None of the above                     (iv) Can’t Say 

(4) 

 SECTION – E  

34. For x = 
2

5
  and y = 

7

10
 ,  insert a rational number between  (𝑥 + 𝑦)−1 𝑎𝑛𝑑  𝑥−1 + 𝑦−1. (5) 

35. Simplify and verify the result for the given values.  

(𝑚2 +  𝑚𝑛 + 𝑛2) (𝑚 − 𝑛) ; 𝑚 = 4, 𝑛 = 3  

OR 

The perimeter of a triangle is (𝑥2𝑦 + 10) units. One of the sides is of length (𝑥2𝑦 − 4) 

units and another side is (3 − 2𝑥2𝑦) units. Find the length of the third side. 

(5) 

36. Rahul sold a watch to Sohan at a gain of 10% and Sohan sold it to Mohan at a loss of 

 10%. If Mohan paid ₹ 990 for it, find the cost price that Rahul paid for the watch. 

(5) 

********************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST – 2 /HALF YEARLY EXAMINATION  

SESSION: 2024 – 2025 
 

Class: VII                            Maximum Marks: 80 
Subject: Sanskrit                                                                      Time: 3 Hours 
िनदɕशा:  
1. अȮӤन्  мҨपΆे 5 खؤाः  सȮϜ।  
2. мितखؤӦ उͱराȭण पृथक्  мदͱायाम्  उͱरपȮुӒकायां लखेनीयािन।  
3. м΄ेकं खؤम्  अȭधकृ΄ उͱराȭण ʉमेण लेखनीयािन।  
4. мҨसˍा мҨपΆानसुारं लेखनीया।  
5. खؤसˍा अिप लेखनीया।  
6. अȮӤन्  мҨपΆे 20 мҨा: सȮϜ।  

 खؤः  ‘क’ (अपिठत-अवबोधनम्) (10)  
1. I. अधोȭलȭखतं गμांशम् आधारीकृ΄ शीषɋकं πौ सूचकौ च आरेखमाφमेन ȭलखत।  

समयः  अतीव मҕूवान् अȮӒ। यिद एषः  समयः  ҡथɋः  ҡतीतः  भवित तिहɋ कोिट-कोिटɤлकाȭण 
мदानने अिप पुनः  न आयाित। यः  जनः  समयӦ सदपुयोगं कतुɍ जानाित सः  जनः  संसारे सखुेन 
जीवित। यः  जनः  समयӦ अपҡयं करोित सः  सदैव दुः खी एव भवित। छाΆाणां कृते समयӦ 
मूҕ̆ानम् अतीव आवتकं भवित। सवɋदा समयӦ सदपुयोगः  एव कतɋҡः  न तु दɣुपयोगः ।  

1+2=3 
 

 (क) अӦ गμांशӦ शीषɋकं ȭलखत। 
(ख) शीषɋकं समथɋनं करोित एवम् πौ सूचकौ गμांशात् ȭचΉा ȭलखत। 

 

 II. अधोȭलȭखतािन वाʈािन घटनाɦˌलारेखे ʉमानुसारेण ȭलखϜु।  
(क) जЋिदन ेмितवषɍ सः  एकӦ वृʔӦ रोपणं करोित। 
(ख) रमेशӦ अμ जЋिदनम् अȮӒ। 
(ग) तदनϜरं सः  वृʔारोपणं कृΉा तӤ ैवृʔाय जलम् अिप य˴ित। 
(घ) वृʔारोपणाय सः  उμानं गΉा भूिमखननं करोित। 
 

½×4=2 
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III. अधोȭलȭखतं गμांशम ्अȭधकृ΄ कारणं мभावं च 'टी-चाटɋ' माφमेन ȭलखϜु। 
देवदԓͱः  एकः  उͱमः  छाΆः  अȮӒ। सः  мितिदनं िवμालयं ग˴ित। एकȮӤन् िदने अितवृिҷः  
अभवत्। तӦ पाҮɕ छΆम् अिप न आसीत्। वृिҷमφे अिप छΆं िवना सः  िवμालयम् अग˴त।् 
गृहम् आगѻ सः  ̏रेण पीिडतः  अभवत्। अЏȮӤन ्िदवसे सः  िवμालयं न अग˴त्।  
 

टी-चाटɋ 

कारणम ् мभावः  

(i)  
 
(ii) ̏रेण पीिडतः  अभवत्    

(i) देवदͱः  ̏रेण पीिडत: अभवत्। 
 
(ii)   

 

 
 
 
 
 
 
 

1+1=2 
 

 IV. अधोȭलȭखतं गμांशं पिठΉा वेनारेखमाφमेन एकं भेदं (अϜरं) एका ंसमानता ंच ȭलखत। 
अӤाकं भारतवषɕ мȭसήे πे महाकाҡे Ӓः । एकं रामायणम् अपरं च महाभारतम् अȮӒ। वाҔीिकः  
रामायणӦ रचनाम् अकरोत।् महाभारतं त ुҡासदेवӦ रचना अȮӒ। रामायणे सаकाؤाः  महाभारत े
च अҷादशपवाɋȭण सȮϜ।  
 
 
 
 

 
 
 (i)                    (i)                      (i)  

1+1+1=3 
 

 खؤ: - 'ख' (रचना΂ककायɋम्) (15)  

2. अधोȭलȭखतं мाचायɍ мित अवकाशाथɋम् आवेदनपΆं पिठΉा म̜षूायाः  सहायतया पूणɍ कृΉा 
आवेदनपΆम् उͱर-पȮुӒकाया ंȭलखत।  

1×5=5 

अÛतरः 

समानता 

अÛतरः 

रामायणम्   महाभारतम्   
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सेवायाम्, 
(i) _____ мधानाचायाɋ: 
डी. ए. वी. िवμालयः  
िदҗीनगरम्। 
महोदयाः , 
सिवनयं(ii) _______ यत् गत्   राΆेः  अहं (iii) _______ ʱӒः  अȮӤ। अӤात् कारणात् अहं 
(iv) _______ आगϜुम ्असमथɋ: अȮӤ। अत: िदनπयӦ (v) _______ दΉा माम ्
अनुगृह् णϜु। 
धЏवादाः  

भवताम् ȭशӊः  
उमेशः  

कʔा-सаमी 
3. ȭचΆं ɠҼा म̜षूातः  शюान ्ȭचΉा Ȭरɷәानािन परूयϜु- 

 
 
 
 
 
(i) ____________ तीरे वʔृा: सȮϜ।   
(ii) सूयɋ: ____________ उदेित।                
(iii) गगने ____________ सȮϜ।  
(iv) नμा: जलं ____________ अȮӒ।        
(v) गगने ____________ उ;तȮϜ।    

1×5=5 

 अथवा 
म̜षूातः  उȭचतं शюं ȭचΉा ‘मम िмयकिवः ’ इित िवषये अनु˴ेदं पूरयत।  
संӎृतसािह΄े अनकेे  (i) ______सȮϜ। तेषु महाकिवः  (ii) ______ मम िмयः  किवः  अȮӒ। 
बाҕकाले सः  महामखूɋः  आसीत्। मातुः  (iii) ______ कृपया सः  महाकिवः  अभवत्। सः  रघुवंशम,् 
मेघदतूम,् (iv) ______च अरचयत्। एषः  महाकिवः  Άीȭण мȭसήािन नाटकािन अिप (v) 
______।  
 

 

4. अधोȭलȭखतािन वाʈािन संӎृतभाषया अनुवादं कृΉा ȭलखत। 
(क) वह पाठ पढ़ती है। (She reads books.) 
(ख) रमेश िवμालय जाएगा। (Ramesh will go to school.) 
(ग) राम ने पΆ ȭलखा। (Ram wrote a letter.) 

1×5=5 

म̜षूा-  
िवμालयम्, ̏रेण, माЏा:, िनवेदयािम, अवकाशं 

म̜षूा – अरचयत्, कवयः , काȭलदासः , सरӪ΄ाः , कुमारसѴवम ्

म̜षूा- िवहगा:, गगन,े नμा:, शाϜम् , मघेा: 
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(घ) तुम घर जाओ। (You go home.) 
(ङ) हम सब दरूदशɋन देखते हɗ। (We all watch T.V.) 

 खؤ: -'ग' (अनुмयɷुҡाकरणम)् (25)  

5. अधोȭलȭखतवाʈषेु रेखािʼतपदानां सȮϹपदं सȮϹ˴ेदपदं वा ȭचΉा ȭलखत।  
(क) महिषɋः  दयानϰः  महापɣुषः  अȮӒ। 
i) मह+ऋिषः         ii) महा+ऋिषः        iii) महा+Ȭरिषः    
(ख) छाΆा पठनाय पӒुक+आलयं ग˴ित। 
i) पӒुकलयं         ii) पӒूकालयं        iii) पӒुकालयं 
(ग) सुरेशः  उͱमः  बालकः  अȮӒ।   
i) सुर+इशः           ii) सुर+ईशः           iii) सुर+एशः   

1×3=3 
 

6. мदͱेџः  िवकҍेџः  समुȭचतं शюɤपं ȭचΉा वाʈषे ुȬरɷәानािन पूरयत।  
(क) अΆ  ______ आҪमः  अȮӒ। 
i) मनुेः                ii) मुनी                iii) मिुनम ् 
(ख) भारते अनकेाः   ______ мवहȮϜ। 
i) नμाः               ii) नμौ                iii) नμः  
(ग) _______ वन ेतपӦां कुवɋȮϜ। 
i) साधनुा            ii) साधवे               iii) साधव:  

1×3=3 
 

7. мदͱेџः  िवकҍेџः  Ȭरɷәानानां कृत ेउȭचत-धातɤुपाȭण ȭचΉा ȭलखत। 
(क) अहं पिठΉा चलȭचΆं ________। 
i) νʙȮϜ            ii) νʙत:             iii) νʙािम   
(ख) Ήम ्पाठं ________। 
i) पठतु               ii) पठ                 iii) पठत  
(ग) छाΆाः  अφािपकया सह उμानम ् ________। 
i) अग˴त ्           ii) अग˴ताम्         iii) अग˴न ्

1×3=3 
 

8. रेखािʼतपदेषु उपसगɍ संयो̌ िवभ̌ वा शुήम् उͱरं िवकҍेџः  ȭचΉा ȭलखत। 
(क) गˎा िहमालयात ् िनस्+सरित। 
i) िनӬरित            ii) िनसरित            iii) िनः सारित  
(ख) नृपः  सेवकान ्िनिदɋशित।  
i) िनर+्िदशित         ii) िन+िदशित         iii) िनस्+िदशित  
(ग) रामः  पवɋतात् अवरोहित। 
i)अ+वरोहित           ii) अव+रोहित         iii) अवरो+हित 
(घ) खगाः  आकाशे उत+्पतȮϜ।  
i) उ;तȮϜ            ii) उतपतȮϜ           iii) ऊ;तȮϜ  

1×4=4 
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9. अधोȭलȭखतवाʈषेु समुȭचतम् अҡयपदं ȭचΉा ȭलखत। 
(क) ______ ȭसंह: बभुȭुʔत: आसीत् । 
i) शनैः  शनैः            ii) च                   iii) एकदा   
(ख) वʔृा: ______ अӤान ् इव भɻुा पीΉा च जीवȮϜ।  
i) उपȬर                ii) अिप                iii) शनैः   
(ग) बालः  ȭज̆ासुः  आसीत्, ______ पठन ेकुशलः  न आसीत्। 
i) परϜु                ii) अतीव              iii) कुΆ  
(घ) ______ मम परीʔा भिवӊित।  
i) यΆ                  ii) Ү:                 iii) अिप 

1×4=4 
 

10. мकृित-м΄यौ संयो̌ िवभ̌ वा शुήम् उͱरं ȭचΉा Ȭरɷәानािन पूरयत। 
(क) महेशः  उμानं  ______ (गम+्ɻा) ʉȱडित। 
i) गिमΉा               ii) गΉा               iii) गȮ˴Ήा  
(ख) ईҮरं   ______ (м+नम+्ҕप)् कायɍ कुɣ। 
i) мनѻ                 ii) мणाѻ            iii) мणѻ  
(ग) बालः  ______ (पठ्+ɻा) खेलनाय गिमӊित।  
i) पठीΉा                ii) पिठΉा            iii) पिठɻा 
(घ) सा गृहम ् ______ (आग΄) पाठं पठित। 
i) आ+गम्+ҕप्         ii) आ+ग˴्+ҕप्    iii) आ+गत्+ҕप ्

1×4=4 

11. мदͱिवकҍेџः  Ȭरɷәानानां कृत ेउȭचत-िवभिɷयɷुपदािन ȭचΉा ȭलखत।  
(क) सवɕ ______  पठϜ।ु 
i) संӎृतम्              ii) संӎृते                iii) संӎृतӦ   
(ख) कृषकाः  ______ आग˴ȮϜ। 
i) ʱामӦ                ii) ʱामाय                iii) ʱामात्  
(ग) बालाः  _______ नमȮϜ। 
i) अφापकम ्           ii) अφापकӦ           iii) अφापके  
(घ) वयं ______ शिɷं мाеुमः । 
i) भोजनम्               ii) भोजने                 iii) भोजनने  

1×4=4 

 खؤ:- 'घ' (पिठत-अवबोधनम्) (25)  
12. अधोȭलȭखतं गμांशं पिठΉा мҨानाम् उͱराȭण ȭलखत। 

वʔृाः  अӤाकं जीवनӦ आधाराः  सȮϜ। एत ेभमूेः  उζवȮϜ। एतेषा ंमूलािन पृȭथҡा ंदरंू दरंू ततािन 
भवȮϜ। मूलानाम ्उपȬरҷात् वʔृӦ мकाؤः  भवित। мकाؤात् शाखाः  उद् भवȮϜ। शाखाџः  
мशाखाः  सѴवȮϜ। एतासु мशाखासु एव पΆाȭण पӃुाȭण फलािन च भवȮϜ।  

 

 I. एकपदेन उͱरत।  
(क) के अӤाकं जीवनӦ आधाराः  सȮϜ?   

½×2=1 
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(ख) कӤात् शाखाः  उद् भवȮϜ?  
 II. पूणɋवाʈेन उͱरत।  

(क) शाखाџ: का: सѴवȮϜ? 
(ख) वʔृा: कӦा: उद् भवȮϜ?  

1×2=2 

 III. мदͱिवकҍेџः  िनदɕशानुसारम्  उȭचतम् उͱरं ȭचΉा ȭलखत।  
(क) 'एतेषा ंमूलािन पȭृथҡां दरंू दरंू ततािन भवȮϜ।' - अΆ िʉयापदं िकम ्अȮӒ? 
i) भवȮϜ                   ii) एतेषां               iii) मूलािन   
(ख) ‘तरव:’ इित पदӦ पयाɋयपदं गμांश ेिकं мयɷुम् ?   
i) फलािन                  ii) мकाؤ:             iii) वʔृा:    

1×2=2 

13. अधोȭलȭखतं पμांशं पिठΉा мҨानाम ्उͱराȭण ȭलखϜु- 
िवμा िववादाय धनं मदाय शिɷः  परेषां पȬरपीडनाय। 

खलӦ साधोिवɋपरीतमतेत् ̆ानाय दानाय च रʔणाय।। 

 

 I. एकपदेन उͱरत - 
(क) कӦ िवμा िववादाय भवित?  
(ख) साधोः  धनं  िकमथɍ भवित?  

½×2=1 
 

 II. पूणɋवाʈेन उͱरत- 
(क) साधोः  िवμा िकमथɍ भवित?  
(ख) कӦ शिɷः  पȬरपीडनाय भवित?  

1×2=2 
 

 III. мदͱिवकҍेџः  िनदɕशानुसारम्  उȭचतम् उͱरं ȭचΉा ȭलखत- 
(क) 'अȭभमानाय' इित पदӦ िकं पयाɋयपदं ҭोके мयɷुम् ?  
i) िवμा              ii) दानाय            iii) मदाय  
(ख) 'साधो:’ – इ΄ȮӤन्  पदे का िवभिɷ: अȮӒ?  
i) िπतीया            ii) षҽी              iii) चतथुɎ   

1×2=2 
 

14. अधोȭलȭखतं ना̼ांशं पिठΉा мҨानाम् उͱराȭण ȭलखत।  
अφािपका – शोभनम् । कथयϜु पौिҷकं भोजनं िकं भवित? 
मनȮӪनी – अहं कथयािम। पौिҷकम्  अथाɋत्  संतȭुलतं भोजनम् ।  
सुधीरः  - यȮӤन् भोजने सवाɋȭण तͷािन Ӧुः । यथा-'мोटीन', वसा,  

खिनजपदाथाɋः , जलम,् ɤʔांशाः  'िवटािमन' च इित।  
अφािपका – शोभनम्। एतैः  तͷैः  िकं भवित?   
мगितः  -'мोटीन' इित तͷेन नवकोिषकाणां रचना भवित। 'काबɚहाइडɌ ेट' वसा च इित 

अӤџं नवशिɷं य˴तः ।  
अφािपका - सुҽु कȭथतम्। आिद΄! कथयत,ु खिनजपदाथाɋः  िकं कुवɋȮϜ?  
आिद΄ः  - खिनजपदाथɘः  अӤाकं शरीरं पोषणं लभते। एतेषाम ्अभावे शरीरे अनकेे रोगाः  

भवȮϜ। 
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लता - खिनजपदाथɕषु लौहतͷम,् 'कैलȭेशयम'्, 'पोटेȭशयम् ', 'आयोडीन' इित तͷािन 
भवȮϜ। एतािन िवना शरीरं शिɷहीनं भवित। एतािन तͷािन शाकेџः  फलेџः  
दु؞ात् लवणात् चािप мाлϜ।े 

 

 I. एकपदेन उͱरत।  
(क) कैः  अӤाकं शरीरं पोषणं लभते?   
(ख) केन तͷेन नवकोिषकाणां रचना भवित?  

½×2=1 
 

 II. पूणɋवाʈेन उͱरत।  
(क) खिनजपदाथɕषु कािन तͷािन भवȮϜ?  
(ख) काबɚहाइडɌ ेट वसा च इित अӤџं िकं य˴त:?  

1×2=2 

 III. мदͱिवकҍेџः  िनदɕशानुसारम्  उȭचतम् उͱरं ȭचΉा ȭलखत।   
(क) 'एतेषाम ्अभावे शरीरे अनेके रोगाः  भवȮϜ।' - अȮӤन ्वाʈे िʉयापदं िकम ्अȮӒ?  
i) भवȮϜ          ii) रोगाः         iii) एतेषाम् 
(ख) 'य˴त:' – इित िʉयापदӦ मूलधातुः  कः ?  
i) दा              ii) यच्           iii) दाच्    

1×2=2 
 

15. िनѨȭलȭखतं ҭोकं पिठΉा उȭचत-पदैः  अВयं पूरयत।  
अयं िनजः  परो वेित गणना लघुचेतसाम्। 
उदारचȬरताना ंत ुवसुधैव कुटुѰकम।्। 

अВयः  – (i)__________ िनजः  (ii)___________ वा (iii)____________ गणना 
(iv)__________। उदारचȬरतानां तु (v)____________ एव  (vi)___________ । 
 
 

½×6=3 

16. ҭोकं पिठΉा उȭचत-पदैः  भावाथɍ पूरयत।  
महाजनӦ संसगɋः  कӦ नोϿितकारकः ।  
पκपΆȮәतं वाȬर धͱ ेमुɷाफलȭҪयम्।। 

भावाथɋः  –    स̀नानां िमΆता सवɕषां जनानाम ्(i)________करोित। यथा कमलपΆे Ȯәतं 
(ii)_________ मौिɷकӦ ɤपं (iii)________तथा एव स̀नपɣुषाणा ंिमΆतया दҷुजनाः  
अिप स̀नाः  (iv)_________________।    
 
 

½×4=2 

17. अधोȭलȭखतािन वाʈािन कथाʉमानुसारेण पुनः  ȭलखत। 
(क) सः  यत् पठित तत ्िवӤरित Ӥ।  
(ख) बˎмदेश ेएकः  पठन ेअकुशलः  छाΆः  आसीत्। 
(ग) गतɋः  мितिदनं घटәापनेन िनिमɋतः  अभवत्। 
(घ) एकदा सः  मागɕ कूपӦ समीपे एकं गतɋम् अपتत।्  

½×4=2 

म̜षूा –  कुटुѰकम,्   इित,  परः , अयं,  लघुचतेसाम्,  वसधुा 

म̜षूा –     भवȮϜ,    जलं ,    उϿितं,    धारयित  
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************** 

18. रेखािʼतपदम ्आधृ΄ мदͱिवकҍेџः  उȭचतं мҨवाचकं पदं ȭचΉा мҨिनमाɋणं कुɣत- 
(क) छाΆः  मातरम् अपृ˴त।् 
i) कम्              ii) िकम्                iii) काम ्  
(ख) वृʔाणा ंबहवः  भदेाः  सȮϜ।  
i) केषाम ्           ii) कӦा ं              iii) कӦ 
(ग) छाΆा: मनोरंजनाय उμानम ् अग˴न् ।  
i) काȭभः             ii) कӦै                iii) के   

1×3=3 

 खؤः  - 'ङ’ (सािह΄ं ҡाकरण̓) (05)  
19. мҨान ्पिठΉा अधोȭलȭखत-िवकҍेџ: शुήम् उͱरं ȭचΉा ȭलखत। 

I. अȭभकथनम ्- पशनूां सङ् ʩा Џूनतरा अभवत्।  
तकɋ ः  – ȭसंहः  мितिदनं पशून् मारयित Ӥ। 
i) अȭभकथनं शήंु, तकɋ ः  अशήुः । 
ii) अȭभकथनम्  अशήंु, तकɋ ः  शήुः । 
iii) उभौ शήुौ।  
iv) उभौ अशुήौ। 

1×2=2 

 II. अȭभकथनम ्– समथाɋनां कृते िकमिप कायɍ भारं न भवित।  
तकɋ ः   - समथाɋः  जनाः  भारʱहणं न कुवɋȮϜ। 
i) अȭभकथनं शήंु, तकɋ ः  अशήुः । 
ii) अȭभकथनम्  अशήंु, तकɋ ः  शήुः । 
iii) उभौ शήुौ।  
iv) उभौ अशήुौ।  

 

20. उȭचतं सѰϹयɷुपदं ȭचΉा ȭलखत।  
(क) भीताः        :          पशवः          : :         एकाम्           :            ? 
i) ȭसंहः                    ii) गुहाम्                        iii) Ҫृगालः   
(ख) ɤʔांशाः      :        पाचनिʉया       : :         िवटािमन          :           ?   
i) नवशिɷः                ii) शरीरपोषणम्                 iii) शारीȬरकिʉयाः   
(ग) ग˴ित       :         गΉा            : :          पتित           :           ? 
i) पȮتΉा                ii) ɠԷ̽ा                         iii) ɠҼा  

1×3=3 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class: VII                                                                               Maximum Marks: 80 

Subject: Science                                                                 Time: 3 Hours 

General Instructions: 

1. All questions are compulsory. 

2. There is no overall choice in the question paper. However, internal choices have been provided in 

three questions of 3 marks category and three questions of 5 marks category.  
 

1. What is the average range of a laboratory thermometer and how does it differ from the range of a 

clinical thermometer? 

a) -10 to 110°C; much greater than the range of clinical thermometers. 

b) -100 to 100°C; much greater than the range of clinical thermometers. 

c) 10 to 50°C; much lesser than the range of clinical thermometers. 

d) 37 to 40°C; much lesser than the range of clinical thermometers. 

(1) 

2. The image which can be projected on a screen is called : 

      a)  Real image        b) Virtual Image             c) Shadow                        d) Impression 

(1) 

3. Select the correct relation from the following: 

      a)  Speed = Distance × Time               b) Speed = Distance / Time 

      c)  Speed = Time / Distance                d) Speed = 1 / Distance × Time 

(1) 

4. The valency of Calcium in CaCO3 is - 

a) 1                      b) 2                             c) 3                              d) 4 

(1) 

5. Pooja took some ice cubes in a vessel and heated it. The shape and state of ice got changed. What 

kind of change is this? 

a) Chemical change that can be reversed.             b) Chemical change that cannot be reversed. 

c)   Physical change that can be reversed.               d) Physical change that cannot be reversed. 

(1) 

6. Soil absorbs water due to its -  

a) colour                 b) porosity                      c) hardness                      d) dryness 

(1) 

7. A student made an arrangement to understand percolation rate of water through different types of 

soil as shown in the figure. He poured equal amount of water in all three of them and waited for 

around 10 minutes.  

 
 

Which of the following explains the rate of water percolation through the soil?  

a) sandy soil has the highest rate of percolation as water passes fastest through it. 

b) clayey soil has the highest rate of percolation as water passes slowest through it. 

c) clayey soil has the highest rate of percolation as it both retains and allows water to pass  

     through it. 

d) loamy soil has the highest rate of percolation as it both retains and allows water to pass  

     through it. 

(1) 

8. One of the important factors, that can lead to scarcity of water, is : 

      a)  excessive rainfall                       b) deforestation 

      c)  afforestation                               d) processing of sea water 

(1) 
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9. Select the type of nutrition exhibited by the figure given below: 

                                                         
a) autotrophic               b) saprotrophic                  c) parasitic                      d) symbiotic 

(1) 

10. Choose the following statements which are true about photosynthesis: 

A. In this process, solar energy is used to prepare food. 

B. In photosynthesis, CO2 and H2O are used. 

C. During photosynthesis CO2 is released and O2 is consumed. 

D. In this process, O2 and CO2 both are consumed. 

a) C and D                 b) A and D                           c) A and B                                  d) B and C 

(1) 

11. Select the correct sequence of parts in the human alimentary canal. 

a) mouth→ oesophagus→ stomach→ large intestine →small intestine 

b) mouth→ stomach → oesophagus → large intestine →small intestine 

c) mouth→ oesophagus→ stomach→ small intestine → large intestine 

d) mouth→ stomach → oesophagus → small intestine → large intestine 

(1) 

12. Identify X, Y and select the correct statement regarding digestion of food in the small intestine: 

     ‘Proteins are broken down to X and fats are broken down into Y’ 

a) X- amino acids, Y- glucose                                b) X- glucose, Y- amino acids                              

c) X- amino acids, Y- fatty acids and glycerol       d) X- fatty acids and glycerol, Y- amino acids 

(1) 

13. Name the part of flower where seeds are formed. 

a) Ovary                  b) Petals                                 c) Sepals                         d) Anther 

(1) 

14. Refer to the diagram given alongside and identify the characteristics of the 

seed that is dispersed by animals.  
a) seeds are almost as fine as dust               b) seeds are very heavy                                            

c) seeds have hairy growth                         d) seeds have spines and hooks 

(1) 

15. Correlate and find the missing word. 

Understory layer : bushes :: Canopy : _________  

a) shrubs                  b) dead leaves                   c) twigs of the tall trees       d) grasses 

(1) 

 The questions below (Question 16 to 19) consist of a statement of Assertion (A) and a 

statement of Reason (R). Use the following key to choose the appropriate answer. 

a) Both A and R are true and R is the correct explanation of A 

b) Both A and R are true but R is not the correct explanation of A 

c) A is true but R is false 

d) A is false but R is true  

 

16. Assertion(A): A plane mirror always produces a virtual image. 

Reason(R): The image formed by a plane mirror is formed by the apparent intersection of  

                 reflected rays, which cannot be projected onto a screen.   

(1) 

17. Assertion(A): Calcium carbonate when heated gives calcium oxide and water. 

Reason(R): On heating calcium carbonate, decomposition reaction takes place. 

(1) 

18. Assertion (A): Sewage is a liquid waste. 

Reason (R): The dissolved and suspended impurities present in sewage are  

                      known as contaminants. 

(1) 

19. Assertion (A): The pancreas is a large cream coloured gland located just below the stomach. 

Reason (R):  The pancreas stores bile. 

(1) 

20. Vinay with a group of adventurous friends, went to river rafting in Manali during winters. They 

stayed in the tents on the river bank. He noticed that at every camping site, the basic element of 

all the tents were a long, narrow strip of heavy black cotton. Every tent had a room heater. The 

travellers were advised to place room heaters at the ground level for effective heating. At night a 

bonfire was arranged for the travellers to provide warmth in open cool spaces. When Vinay was 

(4) 
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sitting beside a campfire, his body facing the fire got warm while the side facing away from the 

fire remained cold. 

a) All tents are black in colour at the campsite. Justify. 

b) Room heaters were advised to be placed at the ground level. State the reason behind this.  

c) Which colour of fabric for tent is preferred in a place having hot weather and why? 

d) Vinay’s body facing the fire got warm, while the side facing away from the fire remained cold.      

     State the reason. 

21. Ravi planned a road trip with his family. He decided to visit three cities: City A, City B, and City 

C. His car can travel at a speed of 60 km/h. 

The distances between the cities are as follows: 

• Distance from his home to City A: 120 km 

• Distance from City A to City B: 150 km 

• Distance from City B to City C: 200 km 

i) Define speed. 

ii) What is the SI unit of speed? 

iii) What is the total distance travelled by Ravi from his home to City C, via City A and City B? 

iv) Calculate the time taken by Ravi to travel from his home to City A. 

(4) 

22. A chemical change produces a new substance whereas a physical change does not produce any 

new substance. To understand how a physical change occurs, take some sugar crystals and 

dissolve them in water. The water becomes sweet to taste. Evaporate the sugar solution. A white 

residue is obtained. All the properties of this residue are identical to sugar. Hence, dissolution of 

sugar in water is a physical change.  

a) Identify the types of change taking place in the following processes: 

i) Photosynthesis in plants            ii) Digestion of food in animals.  

b) Write the physical and chemical changes taking place when a candle burns. 

c) Anaerobic bacteria digests animal waste and produces biogas (Change − A). 

The biogas is then burnt as a fuel (Change − B). Identify the changes A and B as physical or 

chemical.  

d) How would you justify that setting of curd is a chemical change? 

(4) 

23. Cow is a grazing animal. It seems like they are chewing continuously. The digestive system of a 

cow is designed to be able to digest grass and other plants. 

 
i) What kind of stomach does a cow have? 

ii) Can human beings digest cellulose? Justify your answer with reason.  

iii) Name the largest chamber of a cow’s stomach. 

iv) State the role of caecum. 

(4) 

24. To keep her soup warm, Ritu wrapped the container with woollen clothes. Can she apply the same 

method to keep a glass of cold drinks cool for a bit longer period? Justify. 

(2) 

25. Complete the diagrams A and B by drawing the appropriate reflected rays. 

 

 

 

 

 

 

 

 

(2) 
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26. Justify the following statements with proper reason:  

a) Soil erosion is relatively less in dense forests as compared to barren, open fields.  

b) Earthworms are known as farmer’s friend. 

(2) 

27. Place the following statements in a proper order to form a meaningful paragraph on water 

scarcity.  

a) which in turn decreases the seepage of rainwater into the ground. 

b) this decreases the open areas like parks and playgrounds. 

c) increasing population create demand for construction of houses, shops, offices, roads and     

    pavements. 

d) this results in depletion of water table and creates scarcity of water. 

(2) 

28. a) Identify the structures X and Y in the picture        

    given alongside. 

b) Which component of food would be challenging for a person  

     with a damaged Y?   

 

 

(2) 

29. Answer the following questions based on the image given: 

 

a) Label the parts a and b. 

b) Which mode of vegetative reproduction is depicted here? 

 

 

 

(2) 

30. 

Observe the above pictures carefully to answer the following questions:  

a) Name the natural phenomena depicted by P and Q? 

b) P occurs during ____________ and Q occurs during ____________. 

c) What method of heat transfer is involved here? 

d) Mention one example of any physical change caused due to heating.  

(3) 

31. Nitish goes to the ground to play football. The distance-

time graph of his journey from his home to the ground 

is given in a graph (Fig X). 

a) What does the graph between points B and C indicate 

about motion of Nitish?  

b) Is the motion between 0 to 4 minutes uniform or non-

uniform?  

c) What is his speed between 8 and 12 minutes of his 

journey? 

 

 

OR 

a) A simple pendulum is oscillating between two points A and B as  

    shown in Fig Y. Is the motion of the bob uniform or non-         

    uniform?  

b) Draw a distance-time graph for the motion of an object moving    

     with a constant speed. 

 

(3) 

Fig XX 

Fig YX 
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32. a) Identify the type of chemical reaction that takes place in the given picture.  

b) Mention the products formed in this reaction.  

 

 

 

 

 

c) Balance the following chemical equations: 

 

  i)  Al + H2SO4                        Al2 (SO4)3+ H2 

  ii) P2O5 + H2O                H3PO4 

              OR 

a) Classify the following reactions into different types with proper reason:  

i) 2 FeSO4                   Fe2O3+SO2+SO3 

ii)  Mg+ CuSO4                           MgSO4+Cu. 

b) Balance the following chemical equations:    

   C2H6 + O2                           CO2 + H2O 

(3) 

33. a) There are ten tubewells in a lane of fifty houses. What could be the long-term impact on the 

water table of that region? 

b) We can play an active role in waste water management and maintaining a clean and healthy 

surrounding. Give two suggestions to achieve this aim. 

(3) 

34.  

 

 

 

 

 

 

Fig.(i) shows the picture of part of a plant. 

a) Name the parts labelled as A and B. 

b) Which part of the plant is modified into A and B? 

c) What is the mode of nutrition in this plant? 

OR 

 

 

 

 

 

 

 

 
 

Observe the picture given in Fig.(ii) and answer the following questions:  
a) Name the parts labelled as A and B. 

b) What will happen if the part labelled B is blocked? Give reason to support your answer. 

 

(3) 

Fig.(ii) 

Fig.(i) 
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35. ‘Y’ and ‘Z’ are two types of organism found in the forest. ‘Y’ eats up dead animals while ‘Z’ 

breaks down the body of the dead animals into simpler substance. 

a) What is the general name of organisms of type Y? 

b) What is the general name of organisms of type Z? 

c) State one example of Z type organism. 

(3) 

36. Nina was learning about spherical mirror by placing an object in between the focal point and the 

centre of curvature of the mirror. She observed that the image formed was real and inverted. 

a) Identify the type of mirror used by Nina. 

b) Comment on the size of the image with respect to the object. 

c) Draw a suitable ray diagram to explain the formation of image by the above mirror when the 

object is placed in between the focus and the pole of the mirror. 

d) State two characteristics of the image formed by a plane mirror. 

OR 

a) Kapil is observing his image in a plane mirror. The distance between the mirror and his  

     image is 4 m. If he moves 1 m towards the mirror, then find out the new distance between   

Kapil and his image. 

b) Draw a ray diagram to show the formation of an image when the object is placed at the  

     centre of curvature (C) of a concave mirror.  

c) State the laws of reflection of light. 

(5) 

37. a) A student visited two types of field A and B. In field B, paddy crop was grown while in field A 

he found coconut trees. Name two types of soil present in the two fields. Give suitable reason to 

support your answer.  

b) List two ways to prevent soil erosion. 

c) Gardeners gently dig up the soil around the roots of garden herbs (plants) frequently. 

Give two reasons. 

OR 

a) Give reasons for the following: 

    i) Loamy soil is considered the best for cultivation of crops. 

   ii) Upper most layer in a soil profile is considered to be most productive. 

b) State one difference between infiltration rate and percolation rate. 

c) List any two factors of physical weathering. 

(5) 

 

 

 

 

 

 

 

 

 

 

 

38. a) Draw a neat diagram of a complete flower and label the parts responsible for the functions 

given below: 

i) Helps in the formation of pollen grains.        

ii) Helps to attract insects for pollination. 

b) Write down any two changes observed in the flower post fertilization. 
 

OR 

a)  Draw a well labelled diagram of life cycle of a flowering plant. 

 

b)  Which type of pollination does the figure given below indicate and why? 

 

(5) 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class: VII                                                                                              Maximum Marks: 80 

Subject: Social Science                                                                                   Time: 3 Hours 

General Instructions: - 

• There are 35 questions in all. All questions are compulsory. 

• Marks are indicated against each question. 

• Question nos.34 & 35 are Map questions of Geography & History. Map should be attached with the 

answer sheet. 

         Choose the correct option from the following (Q. No.1 to Q. No. 16) 

1. Volcanoes erupt due to- 

A. external disturbance of the earth     B. man-made changes on the earth 

C. internal disturbance of the earth      D. changes in atmospheric temperature 

(1) 

2. In the following question, two statements are marked as Assertion (A) and Reason 

(R). Read both the statements carefully and choose the most appropriate option. 

Assertion (A): The two components of the natural environment, that is physical and 

biological, are largely interdependent and cannot be separated.  

Reason (R): Any major change in the physical environment is bound to bring a change 

in the accompanying biological environment.  

A. Both (A) and (R) are true and (R) is the correct explanation of (A) 

B. Both (A) and (R) are true but (R) is not the correct explanation of (A) 

C. (A) is true but (R) is false 

D. (A) is false but (R) is true 

(1) 

3. Identify the agent of gradation responsible for the formation of the 

landform shown in the given picture: 

A. Water                               B. Glacier 

C. Sea Waves                        D. Wind 

(1) 

4. Match column A with column B and choose the correct option. 

Column A Column B 

(a) Water falls (i) Lower course of river 

(b) Sand dune (ii) Erosional feature 

(c) Cliff (iii) Depositional feature 

(d) Flood plain (iv) Upper course of river 

        

         (a)         (b)        (c)         (d) 

A.     ii            i           iii           iv   

B.     iv          iii           ii           i 

C.     ii           iv          iii           i 

D.     iv           ii           i           iii 

(1) 

 

 

 

 

 

 

 

 

 

 

 

5. Rohan went to the river bank with his friends. There they found some rocks which 

were soft and were also formed in layers. Identify the type of rock: 

A. Igneous rock                                B. Metamorphic rock 

C. Sedimentary rock.                        D. Bed rock 

(1) 
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6. Tahqiq-i-Hind was written by- 

A. Abul Fazl           B. Chand Bardai C. Al-Biruni            D. Tulsidas 

(1) 

7. Read the statements 1 & 2 and choose the correct option: - 

Statement 1: Prithviraj Raso, gives information about the reign of the Rajput ruler 

Prithviraj Chauhan. 

Statement 2: History is divided into two periods.  

A. Statement 1 is false but statement 2 is true      

B. Statement 1 is true but statement 2 is false 

C. Both the statements are true                       

D. Both the statements are false      

(1) 

8. According to their period of rule, arrange the following rulers in chronological 

order-Devapala, Gopala, Dharmapala 

 A. Dharmapala, Devapala, Gopala           B. Devapala, Dharmapala, Gopala 

 C. Gopala, Devapala, Dharmapala           D. Gopala, Dharmapala, Devapala  

(1) 

9. Name the temple built by Rajaraja-I. 

 A. Kanchipuram temple                           B. Rajrajeswara temple 

 C. Kailashnath temple                              D. Mahabalipuram temple 

(1) 

10. Muhammad Ghori defeated King Jaichand and occupied - 

A. Mathura and Kanauj                                               B. Kanauj and Benaras 

C. Lahore and Sindh                                                    D. Mathura and Benaras 

(1) 

11. Match Column A with Column B and find out the correct answer from the given 

options. 

           Column A Column B 

(a) Abbasid Caliphs                                                                  (i)  Afghanistan 

(b) Guards and professional soldiers                                        (ii)  Baghdad 

(c) Ghaznavis                                            (iii) Gujarat 

(d) Somnath Temple                       (iv) Turks 
 

A. (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)                    B. (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 

C. (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)                    D. (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)  

(1) 

12. Paro sells flowers at traffic signals from morning till night. Which of the Fundamental 

Rights is she deprived of? 

A. Right to Freedom                                B. Right to Freedom of Religion 

C. Right to Equality                                 D. Right to Constitutional Remedies 

(1) 

 

 

 

13. Read the following statements and choose the correct option. 

(i) The people of India cast their votes and elect their representatives for a fixed period. 

(ii) These representatives run the government according to the wishes of the people. 

A. (i) is true but (ii) is false                     B. (i) is false but (ii) is true 

C. Both (i) and (ii) are false                    D. Both (i) and (ii) are true 

(1) 

14. The Governor of a state is appointed by the-  

A. Chief Minister                                    B. Prime Minister  

C. President of India                               D. Vice-President of India 

(1) 

15. What is the minimum age to be a member of the Legislative Assembly? 

A. 25 years                                              B. 30 years 

C. 35 years                                              D. 40 years 

(1) 

16. There are two statements marked as Assertion (A) and Reason (R). 

Read the statements and choose the correct option. 

Assertion (A): - Media is like a watchdog in a democracy. 

(1) 
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Reason (R): - It keeps the government active and the public involved. 

A. Both (A) and (R) are correct statements and (R) is the correct explanation of (A) 

B. Both (A) and (R) are correct statements but R is not the correct explanation of (A) 

C. (A) is correct but (R) is incorrect 

D. (A) is incorrect but (R) is correct 

17. State any two features of the innermost layer of the earth. (2) 

18. Identify the layer of the atmosphere, where all weather changes take place. State  any 

one  cause for  the weather change in that particular layer. 

(2) 

19. ‘Medieval period was the period of great technological developments’. Justify the 

statement. 

(2) 

20. 

 
Identify the monument as shared in the picture above and write where it is located. 

Name the ruler who built it and the dynasty to which he belonged. 

 (1+1) 

21. Explain the role of opposition party in a democratic country. (2) 

22. Write two differences between Vidhan Sabha and Vidhan Parishad. (2) 

23. Explain any three important features of Rashtrakuta empire. (3) 

24. Write the name of the greatest Chola king. Mention two events that mark the rise of 

Chola Empire. 

(1+2) 

25. List two types of Media. Prepare a poster on Right to Information with a catchy tagline. (1+2) 

26. Read the given extract and answer the following questions:  

An earthquake – also called a quake, tremor, or temblor – is the shaking of the Earth's 

surface resulting from a sudden release of energy in the lithosphere that creates seismic 

waves. The seismic activity of an area is the frequency, type and size of earthquakes 

experienced over a particular time.  

In its most general sense, the word earthquake is used to describe any seismic event 

that generates seismic waves. Earthquakes can occur naturally or be induced by human 

activities, such as mining, fracking and nuclear tests.  

(a) Define earthquake. Mention the cause of earthquake.                   

(b) Distinguish between P-waves and S-waves. 

(1+1+2) 

 

 

 

 

 

 

 

 

 

27. 

 

 

 

Read the given extract and answer the following questions:  

Mahmud Ghazni was the first Turkish ruler to invade India. His father was Abu 

Sabuktigin Ghazni. His major aim to invade India was to loot the great wealth of India. 

Every time he invaded and returned with a vast amount of wealth collected from Indian 

temples and rulers. Mahmud Ghaznavi invaded India almost 17 times between 1000-

1025 CE. Muhammad Ghori was the first Turkish ruler who had the intention of 

establishing his kingdom in India. He occupied Peshawar, Lahore and Sindh. While 

trying to occupy Gujarat he was given tough competition by Bhima of the Chalukya 

dynasty and was thus unable to occupy it, rather he barely managed to survive. During 

the same time, Prithviraj Chauhan of the Chauhan dynasty was also trying to expand 

his kingdom. Muhammad Ghori was defeated by Prithviraj Chauhan in the first Battle 

of Tarain in 1191 CE but was victorious in the second battle of Tarain in 1192 CE. 

 

 

(1+2+1) 
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(a) Arrange the following rulers in sequence of their period of rule. 

(i) Muhammad Ghori 

(ii) Abu Sabuktigin 

(iii) Mahmud Ghazni 

Options: 

A) i, iii, ii                          B) ii, iii, i               C) i, ii, iii                       D) ii, i, iii 

(b) Choose the correct statement/s 

A. Ghazni’s major aim to invade India was the wealth of India. 

B. Ghori had the intention to establish his kingdom in India. 

C. Both A and B are correct. 

D. None of the statements are correct. 
 

(c) Differentiate between the aims of Mahmud Ghazni and Muhammad Ghori in India. 

28. 

 

 

 

 

 

Read the given extract and answer the following questions:  

In a democratic country like India, media plays an important role in creating aware and 

enlightened citizens. Media is the main source of information. Interviews, speeches and 

panel discussions make viewers aware of the opinions of different political parties, 

eminent personalities from various fields and the hopes and aspirations of the general 

public. The information helps the citizens to form opinions, learn about the working 

plans and programmes that the government is undertaking, their successful 

implementation or failure. An election cannot be considered democratic unless the 

public is aware and knowledgeable and is fully able to participate. Media faces several 

challenges. Various efforts are made to control media through stringent norms and 

regulations. Paid news and fake news are a threat to free and unbiased media. All these 

lead to favouritism and hinder unbiased reporting. 

(a) Assess the role of media in creating aware and enlightened citizens. 

(b) Select ways to ensure democratic election. 

 

 (2+2) 

29. Explain the formation of soil with the help of a labelled diagram. (5) 

30. Describe the mechanism of rainfall with the help of a labelled diagram. (5) 

31. Mention any two administrative reforms introduced by Iltutmish. ‘Balban was a strong 

and capable ruler’.  Argue in favour of this statement. 

(2+3) 

32. Mention the main provisions of the Right to Equality (any 

three). Illustrate the cartoon given. 

 

 

 

(3+2) 

33. (a)  Prepare a flowchart on Indian Federation. 

(b) ‘The state administration is carried out in the name of the Governor, whereas the  

       real power lies with the Chief Minister’-Justify the statement. 

(3+2) 

34. On an outline map of the world identify the following National Parks. 

A. A National Park                                             B. A National Park 

Locate and label the following in the given map of the World 

C. Jim Corbett National Park                             D. Serengeti National Park 

(1×4) 

35. On the outline political map of India, locate and label the following kingdoms: - 

(a)The area ruled by the Palas                           (b) The kingdom of Pandyas 

 

******************* 

(1×2) 
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34. 
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